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SETS

Exercise 1 1

1. Which of the following are sets ? Justify your answer. 

The collection of all the months of a year beginning with the letter J.

Watch Video Solution

2. Which of the following are sets ? Justify your answer. 

The collection of ten most talented writers of India.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IUtnYg38g8CO
https://dl.doubtnut.com/l/_fkgfTweFCUIj


Watch Video Solution

3. Which of the following are sets ? Justify your answer. 

A team of eleven best-cricket batsmen of the world.

Watch Video Solution

4. Which of the following are sets ? Justify your answer. 

The collection of all boys in your class.

Watch Video Solution

5. Which of the following are sets ? Justify your answer. 

The collection of all natural numbers less than 100.

Watch Video Solution

https://dl.doubtnut.com/l/_fkgfTweFCUIj
https://dl.doubtnut.com/l/_4enHv61mXD3J
https://dl.doubtnut.com/l/_nuPlx2n2awO3
https://dl.doubtnut.com/l/_ERflYHZCsBfK


6. Which of the following are sets ? Justify your answer. 

A collection of novels written by the writer Munshi Prem Chand.

Watch Video Solution

7. Which of the following are sets ? Justify your answer. 

The collection of all even integers.

Watch Video Solution

8. Which of the following are sets ? Justify your answer. 

The collection of questions in this Chapter.

Watch Video Solution

9. Which of the following are sets ? Justify your answer. 

A collection of most dangerous animals of the world.

https://dl.doubtnut.com/l/_FinqkiRER172
https://dl.doubtnut.com/l/_37te5q0fgpFk
https://dl.doubtnut.com/l/_G2iln2WnJhfX
https://dl.doubtnut.com/l/_UlrqmHSqSkvZ


Watch Video Solution

10. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

5. . . A

11. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

8. . . A

12. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

0. . . A

https://dl.doubtnut.com/l/_UlrqmHSqSkvZ
https://dl.doubtnut.com/l/_mUx8yt5XIY6C
https://dl.doubtnut.com/l/_7wfLL3BQNoVX
https://dl.doubtnut.com/l/_KzBirfWpEbhG


13. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

4. . . A

14. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

2. . . A

15. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

10. . . A

https://dl.doubtnut.com/l/_KzBirfWpEbhG
https://dl.doubtnut.com/l/_SUuU37ZJchUz
https://dl.doubtnut.com/l/_X9eaRfIolOlm
https://dl.doubtnut.com/l/_aIpAZGbnrjma


16. Write the following sets in roster form: 

A = {x : x is an integer and }

Watch Video Solution

– 3 ≤ x < 7

17. Write the following sets in roster form: 

B = {x : x is a natural number less than 6}

Watch Video Solution

18. Write the following sets in roster form: 

C = {x : x is a two-digit natural number such that the sum of its digits is 8}

Watch Video Solution

19. Write the following sets in roster form: 

D = {x : x is a prime number which is divisor of 60}

https://dl.doubtnut.com/l/_aIpAZGbnrjma
https://dl.doubtnut.com/l/_x8ckjaSFYSJd
https://dl.doubtnut.com/l/_jzBAqrra32DE
https://dl.doubtnut.com/l/_rvIkOGKKlZpc
https://dl.doubtnut.com/l/_Yn894OK2YLmz


Watch Video Solution

20. Write the following sets in roster form: 

E = The set of all letters in the word TRIGONOMETRY

Watch Video Solution

21. Write the following sets in roster form: 

F = The set of all letters in the word BETTER

Watch Video Solution

22. Write the following sets in the set-builder form : 

Watch Video Solution

(3, 6, 9, 12}

https://dl.doubtnut.com/l/_Yn894OK2YLmz
https://dl.doubtnut.com/l/_fjSnVSRac3HS
https://dl.doubtnut.com/l/_D24S7C9dFLvb
https://dl.doubtnut.com/l/_PmmYzTizdgOc


23. Write the following sets in the set-builder form : 

Watch Video Solution

{2, 4, 8, 16, 32}

24. Write the following sets in the set-builder form : 

Watch Video Solution

{5, 25, 125, 625}

25. Write the following sets in the set-builder form : 

Watch Video Solution

{2, 4, 6, . . . }

26. Write the following sets in the set-builder form : 

{1, 4, 9, . . . , 100}

https://dl.doubtnut.com/l/_HlP4a0V7SvTi
https://dl.doubtnut.com/l/_kzVG9axB08Za
https://dl.doubtnut.com/l/_D0Hnx0l0PVwQ
https://dl.doubtnut.com/l/_Q0dDYrEB9Ba5


Watch Video Solution

27. List all the elements of the following sets : 

A = {x : x is an odd natural number}

Watch Video Solution

28. List all the elements of the following sets : 

B = {x : x is an integer, }

Watch Video Solution

− < x <
1

2

9

2

29. List all the elements of the following sets : 

C = {x : x is an integer, }

Watch Video Solution

x2 ≤ 4

https://dl.doubtnut.com/l/_Q0dDYrEB9Ba5
https://dl.doubtnut.com/l/_3H8GM2HrsWqU
https://dl.doubtnut.com/l/_GQzR8tpSb5H6
https://dl.doubtnut.com/l/_PoJuyFeCsyN6


30. List all the elements of the following sets : 

D = {x : x is a letter in the word “LOYAL”}

Watch Video Solution

31. List all the elements of the following sets : 

E = {x : x is a month of a year not having 31 days}

Watch Video Solution

32. List all the elements of the following sets : 

F = {x : x is a consonant in the English alphabet which precedes k }.

Watch Video Solution

33. Match each of the set on the left in the roster form with the same set

on the right described in set builder form : 

https://dl.doubtnut.com/l/_L3v5jTX62si1
https://dl.doubtnut.com/l/_o4nEelm3N47d
https://dl.doubtnut.com/l/_kpDuJstPvivx
https://dl.doubtnut.com/l/_Yq7DZRoLjQLn


Exercise 1 2

Watch Video Solution

1. Which of the following are examples of the null set 

Set of odd natural numbers divisible by 2

Watch Video Solution

2. Which of the following are examples of the null set 

Set of even prime numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Yq7DZRoLjQLn
https://dl.doubtnut.com/l/_prO1DlunPBZw
https://dl.doubtnut.com/l/_yeMTBRbAaF9f


3. Which of the following are examples of the null set 

{ x : x is a natural numbers,  }

Watch Video Solution

x < 5 and x > 7

4. Which of the following are examples of the null set 

{ y : y is a point common to any two parallel lines}

Watch Video Solution

5. Which of the following sets are finite or infinite ? 

The set of months of a year

Watch Video Solution

https://dl.doubtnut.com/l/_yeMTBRbAaF9f
https://dl.doubtnut.com/l/_PGocCnZ8pYqb
https://dl.doubtnut.com/l/_DGRZxOYmoTs9
https://dl.doubtnut.com/l/_kFkXhAyMxNuB


6. Which of the following sets are finite or infinite 

Watch Video Solution

{1, 2, 3, . . . }

7. Which of the following sets are finite or infinite 

Watch Video Solution

{1, 2, 3, . . .99, 100}

8. Which of the following sets are finite or infinite 

The set of positive integers greater than 100

Watch Video Solution

9. Which of the following sets are finite or infinite 

The set of prime numbers less than 99

https://dl.doubtnut.com/l/_vmgcUSbg2Dfg
https://dl.doubtnut.com/l/_0EyxfQ5qQuFF
https://dl.doubtnut.com/l/_gNUCaw8kaAVX
https://dl.doubtnut.com/l/_TYHg7TpNId21


Watch Video Solution

10. State whether each of the following set is finite or infinite: 

The set of lines which are parallel to the x-axis

Watch Video Solution

11. State whether each of the following set is finite or infinite: 

The set of letters in the English alphabet

Watch Video Solution

12. State whether each of the following set is finite or infinite: 

The set of numbers which are multiple of 5

Watch Video Solution

https://dl.doubtnut.com/l/_TYHg7TpNId21
https://dl.doubtnut.com/l/_rXM3TPIFu3Yn
https://dl.doubtnut.com/l/_BpzW7YioFPcJ
https://dl.doubtnut.com/l/_e0koujBqx28V


13. State whether each of the following set is finite or infinite: 

The set of animals living on the earth

Watch Video Solution

14. State whether each of the following set is finite or infinite: 

The set of circles passing through the origin (0,0)

Watch Video Solution

15. In the following, state whether A = B or not: 

Watch Video Solution

A = {a, b, c, d}B = {d, c, b, a}

16. In the following, state whether A = B or not: 

A = {4, 8, 12, 16}B = {8, 4, 16, 18}

https://dl.doubtnut.com/l/_bhi1IgIxDYZD
https://dl.doubtnut.com/l/_QnZ1U5aQAXnX
https://dl.doubtnut.com/l/_lkyNvUHk84Za
https://dl.doubtnut.com/l/_GBoaNH3YIZJW


Watch Video Solution

17. In the following, state whether A = B or not: 

 B = { x : x is positive even integer and }

Watch Video Solution

A = {2, 4, 6, 8, 10} x ≤ 10

18. In the following, state whether A = B or not: 

A = {  is a multiple of 10}, 

Watch Video Solution

x : x B = {10, 15, 20, 25, 30, . . . }

19. Are the following pair of sets equal ? Give reasons. 

, B = {x : x is solution of }

Watch Video Solution

A = {2, 3} x2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_GBoaNH3YIZJW
https://dl.doubtnut.com/l/_LQfCzT71azEg
https://dl.doubtnut.com/l/_U3TQJNyFy50D
https://dl.doubtnut.com/l/_awedSh7S2r4s


Exercise 1 3

20. Are the following pair of sets equal ? Give reasons. 

A = { x : x is a letter in the word FOLLOW} 

B = { y : y is a letter in the word WOLF}

Watch Video Solution

21. From the sets given below, select equal sets : 

 


Watch Video Solution

A = {2, 4, 8, 12}, B = {1, 2, 3, 4}, C = {4, 8, 12, 14}, D = {3, 1, 4, 2}

E = {– 1, 1}, F = {0, a}, G = {1, – 1}, H = {0, 1}

1. Make correct statements by filling in the symbols  in the

blank spaces : 

W t h Vid S l ti

⊂ or ⊄

{2, 3, 4}. . . {1, 2, 3, 4, 5}

https://dl.doubtnut.com/l/_n79DXImVh634
https://dl.doubtnut.com/l/_wlviUY0cypD2
https://dl.doubtnut.com/l/_K6CTOK4eFNqN


Watch Video Solution

2. Make correct statements by filling in the symbols  in the

blank spaces : 

Watch Video Solution

⊂ or ⊄

{a, b, c}. . . {b, c, d}

3. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is a student of Class XI of your school}. . .{  student of your

school}

Watch Video Solution

⊂ or ⊄

x : x x : x

4. Make correct statements by filling in the symbols  in the

blank spaces : 

⊂ or ⊄

https://dl.doubtnut.com/l/_K6CTOK4eFNqN
https://dl.doubtnut.com/l/_zbbSvGIIcuN3
https://dl.doubtnut.com/l/_ayHCRolYBVgF
https://dl.doubtnut.com/l/_la9nYdD2vTEg


{  is a circle in the plane} . . .{  is a circle in the same plane with

radius 1 unit}

Watch Video Solution

x : x x : x

5. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is a triangle in a plane} . . . {  is a rectangle in the plane}

Watch Video Solution

⊂ or ⊄

x : x x : x

6. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is an equilateral triangle in a plane} . . . {  is a triangle in the

same plane}

Watch Video Solution

⊂ or ⊄

x : x x : x

https://dl.doubtnut.com/l/_la9nYdD2vTEg
https://dl.doubtnut.com/l/_O9jvLYn3XEve
https://dl.doubtnut.com/l/_beC2qyd1y4Jd


7. Make correct statements by filling in the symbols  in the

blank spaces : 

{  is an even natural number} . . . {  is an integer}

Watch Video Solution

⊂ or ⊄

x : x x : x

8. Examine whether the following statements are true or false: 

Watch Video Solution

{a, b} ⊄ {b, c, a}

9. Examine whether the following statements are true or false: 

 {  is a vowel in the English alphabet}

Watch Video Solution

{a, e} ⊂ x : x

https://dl.doubtnut.com/l/_NDq2skEea0ov
https://dl.doubtnut.com/l/_8mef4hMv2VxL
https://dl.doubtnut.com/l/_i4Y4kXmEp4Qr


10. Examine whether the following statements are true or false: 

Watch Video Solution

{1, 2, 3} ⊂ {1, 3, 5}

11. Examine whether the following statements are true or false: 

Watch Video Solution

{a} ⊂ {a, b, c}

12. Examine whether the following statements are true or false: 

Watch Video Solution

{a} ⊂ {a, b, c}

13. Examine whether the following statements are true or false: 

{  is an even natural number less than 6}  {  is a naturalx : x ⊂ x : x

https://dl.doubtnut.com/l/_LTZuRSIySWdK
https://dl.doubtnut.com/l/_3rOYSylZXKS1
https://dl.doubtnut.com/l/_xKJz0DpWkdjN
https://dl.doubtnut.com/l/_8JSTU99wj3bl


number which divides 36}

Watch Video Solution

14. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{3, 4} ⊂ A

15. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{3, 4} ∈ A

16. Let . Which of the following statements are

incorrect and why? 

A = {1, 2, {3, 4}, 5}

https://dl.doubtnut.com/l/_8JSTU99wj3bl
https://dl.doubtnut.com/l/_DF4D796WKRX2
https://dl.doubtnut.com/l/_AVgUXTgMbfiU
https://dl.doubtnut.com/l/_cTZnLGP2FJzG


Watch Video Solution

{{3, 4}} ⊂ A

17. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

1 ∈ A

18. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

1 ⊂ A

19. Let . Which of the following statements are

incorrect and why? 

A = {1, 2, {3, 4}, 5}

https://dl.doubtnut.com/l/_cTZnLGP2FJzG
https://dl.doubtnut.com/l/_USpNGnwBbIiy
https://dl.doubtnut.com/l/_2xfxP1v2werH
https://dl.doubtnut.com/l/_f3tB2jKzUffr


Watch Video Solution

{1, 2, 5} ⊂ A

20. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{1, 2, 5} ∈ A

21. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{1, 2, 3} ⊂ A

22. Let A= {1, 2, {3, 4}, 5}. Which of the following statemets are incorrect

and why? 

https://dl.doubtnut.com/l/_f3tB2jKzUffr
https://dl.doubtnut.com/l/_teDBP4P5po2F
https://dl.doubtnut.com/l/_QwqX7lPkEpAU
https://dl.doubtnut.com/l/_mSLjvohZhT9b


Watch Video Solution

ϕ ∈ A

23. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

φ ⊂ A

24. Let . Which of the following statements are

incorrect and why? 

Watch Video Solution

A = {1, 2, {3, 4}, 5}

{φ} ⊂ A

25. Write down all the subsets of the following sets 

{a}

https://dl.doubtnut.com/l/_mSLjvohZhT9b
https://dl.doubtnut.com/l/_jAYtoy2oVjkR
https://dl.doubtnut.com/l/_UGgXyaWcNCfg
https://dl.doubtnut.com/l/_Eif0jqkOPKfx


Watch Video Solution

26. Write down all the subsets of the following sets 

Watch Video Solution

{a, b}

27. Write down all the subsets of the following sets 

Watch Video Solution

{1, 2, 3}

28. Write down all the subsets of the following sets 

Watch Video Solution

ϕ

https://dl.doubtnut.com/l/_Eif0jqkOPKfx
https://dl.doubtnut.com/l/_QfdvhJL7MAwU
https://dl.doubtnut.com/l/_4eBhZGwj60vm
https://dl.doubtnut.com/l/_aejXMgiQVP3C


29. How many elements has P(A), if ?

Watch Video Solution

A = φ

30. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, – 4 < x ≤ 6}

31. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, – 12 < x < – 10}

32. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, 0 ≤ x < 7}

https://dl.doubtnut.com/l/_3qP8ODrWLBzs
https://dl.doubtnut.com/l/_ICmuFFQvvo9C
https://dl.doubtnut.com/l/_4d9lsb0hLeT0
https://dl.doubtnut.com/l/_Z9rvVIixmz8g


33. Write the following as intervals : 

Watch Video Solution

{x : x ∈ R, 3 ≤ x ≤ 4}

34. Write the following intervals in set-builder form : 

Watch Video Solution

(– 3, 0)

35. Write the following interval in set builder form. 

Watch Video Solution

(6, 12)

https://dl.doubtnut.com/l/_Z9rvVIixmz8g
https://dl.doubtnut.com/l/_uI3qD7soUfjv
https://dl.doubtnut.com/l/_X5ofMCXuGk2P
https://dl.doubtnut.com/l/_3UdLqyPCAjNx


36. Write the following interval in set builder form. 

Watch Video Solution

(6, 12)

37. Write the following interval in set builder form. 

Watch Video Solution

( − 23, 5)

38. What universal set(s) would you propose for each of the following : 

The set of right triangles.

Watch Video Solution

39. What universal set(s) would you propose for each of the following : 

The set of isosceles triangles.

https://dl.doubtnut.com/l/_Br6pJgdyEsSv
https://dl.doubtnut.com/l/_4Vb3zFDGAWEL
https://dl.doubtnut.com/l/_bEINIOg4iRVY
https://dl.doubtnut.com/l/_Zv9Pf21mZUJs


Watch Video Solution

40. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and 

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{0, 1, 2, 3, 4, 5, 6}

41. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and 

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

ϕ

42. Given the sets ,

which of the following may be considered as universal set (s) for all the

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

https://dl.doubtnut.com/l/_Zv9Pf21mZUJs
https://dl.doubtnut.com/l/_L0QBhG58f2kO
https://dl.doubtnut.com/l/_aQJ0NF2VhYyY
https://dl.doubtnut.com/l/_8yl8NWeH84Yl


Exercise 1 4

three sets A, B and 

Watch Video Solution

{0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

43. Given the sets ,

which of the following may be considered as universal set (s) for all the

three sets A, B and 

Watch Video Solution

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

{1, 2, 3, 4, 5, 6, 7, 8}

1. Find the union of each of the following pairs of sets : 

Watch Video Solution

X = {1, 3, 5}Y = {1, 2, 3}

https://dl.doubtnut.com/l/_8yl8NWeH84Yl
https://dl.doubtnut.com/l/_hEQIeAwIAm8A
https://dl.doubtnut.com/l/_lSnBK9iOKIcL
https://dl.doubtnut.com/l/_xwWNSgu00pus


2. Find the union of each of the following pairs of sets : 

Watch Video Solution

A = [a, e, i, o, u}B = {a, b, c}

3. Find the union of each of the following pairs of sets : 

A = {  is a natural number and multiple of 3} 


B = {  is a natural number less than 6}

Watch Video Solution

x : x

x : x

4. Find the union of each of the following pairs of sets : 

A = {  is a natural number and  } 


B = {  is a natural number and  }

Watch Video Solution

x : x 1 < x ≤ 6

x : x 6 < x < 10

https://dl.doubtnut.com/l/_xwWNSgu00pus
https://dl.doubtnut.com/l/_SRxOmiL8DpUk
https://dl.doubtnut.com/l/_k5KbUnuArPYY


5. Find the union of each of the following pairs of sets : 

Watch Video Solution

A = {1, 2, 3}, B = φ

6. Let . Is  ? What is  ?

Watch Video Solution

A = {a, b}, B = {a, b, c} A ⊂ B A ∪ B

7. If A and B are two sets such that  then what is 

Watch Video Solution

A ⊂ B A ∪ B?

8. If

, find 

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B ∪ D

https://dl.doubtnut.com/l/_91FjEeBRvEKP
https://dl.doubtnut.com/l/_ziiNEaUN6F4N
https://dl.doubtnut.com/l/_s460NWbrTz0n
https://dl.doubtnut.com/l/_QURvxdO2s0ao


Watch Video Solution

9. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ C

10. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

B ∪ C

11. If

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

https://dl.doubtnut.com/l/_QURvxdO2s0ao
https://dl.doubtnut.com/l/_lRf0ssSFC0kk
https://dl.doubtnut.com/l/_BxEP0YMznYEP
https://dl.doubtnut.com/l/_aBiPVZKgxi0J


, find 

Watch Video Solution

B ∪ D

12. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B ∪ C

13. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

A ∪ B ∪ D

https://dl.doubtnut.com/l/_aBiPVZKgxi0J
https://dl.doubtnut.com/l/_vl27cZMQBwYy
https://dl.doubtnut.com/l/_m4QSMWRTm2Y7
https://dl.doubtnut.com/l/_oFtQXmbEfPke


14. If

, find 

Watch Video Solution

A = {1, 2, 3, 4}, B = {3, 4, 5, 6}, C = {5, 6, 7, 8} and D = {7, 8, 9, 10}

B ∪ C ∪ D

15. Find the intersection of each pair of sets of question 1 above.

Watch Video Solution

16. Find the intersection of each pair of sets of question 1 above.

Watch Video Solution

17. Find the intersection of each pair of sets of question 1 above.

Watch Video Solution

https://dl.doubtnut.com/l/_oFtQXmbEfPke
https://dl.doubtnut.com/l/_cZX4Cf8TQ9n8
https://dl.doubtnut.com/l/_3iafGx6rcxD1
https://dl.doubtnut.com/l/_pkaQh0l68jD1


18. Find the intersection of each pair of sets of question 1 above.

Watch Video Solution

19. Find the intersection of each pair of sets of question 1 above.

Watch Video Solution

20. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ C ∩ D

21. If

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

https://dl.doubtnut.com/l/_jrTJWFKYSIa4
https://dl.doubtnut.com/l/_CUNBzmUtNf01
https://dl.doubtnut.com/l/_kruuqLU7Vg1u
https://dl.doubtnut.com/l/_ehCSbiaRiEtg


, find 

Watch Video Solution

B ∩ C

22. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ C ∩ D

23. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ C

https://dl.doubtnut.com/l/_ehCSbiaRiEtg
https://dl.doubtnut.com/l/_8PCpSjPS2WBb
https://dl.doubtnut.com/l/_chDIhVDSEPOc
https://dl.doubtnut.com/l/_lczdek6eKILj


24. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

B ∩ D

25. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ (B ∪ C)

26. If

, find 

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ D

https://dl.doubtnut.com/l/_lczdek6eKILj
https://dl.doubtnut.com/l/_JdnH9Wag2CjH
https://dl.doubtnut.com/l/_1mL1mbaFAYCF


Watch Video Solution

27. If

, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15} and D = {15, 17}

A ∩ (B ∪ D)

28. If  


, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15}

and D = {15, 17} A ∪ D, B ∪ C, (A ∪ D) ∩ (B ∪ C)

29. If  


, find 

Watch Video Solution

A = {3, 5, 7, 9, 11}, B = {7, 9, 11, 13}, C = {11, 13, 15}

and D = {15, 17} A ∪ D, B ∪ C, (A ∪ D) ∩ (B ∪ C)

https://dl.doubtnut.com/l/_1mL1mbaFAYCF
https://dl.doubtnut.com/l/_zeFfJyBEakGf
https://dl.doubtnut.com/l/_rkBySUvUEcNy
https://dl.doubtnut.com/l/_fF1LpOB8TiUQ


30. Let A={x : x is a natural number}, B ={x : x is an even natural number} 

C={x : x is an odd natural number and D={x : x is a prime number} 

Find .

Watch Video Solution

A ∩ B, A ∩ C, A ∩ D, B ∩ C, B ∩ D and C ∩ D

31. If A= {x : x is a natural number}, 

B= {x : x is an even natural number}, 

C= {x : x is an odd natural number}, 

D= {x : x is a prime number} 

then find the following sets. 

Watch Video Solution

A ∩ C

32. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

x : x x : x

x : x x : x

A ∩ D

https://dl.doubtnut.com/l/_KfyepiLw1RKB
https://dl.doubtnut.com/l/_XiEZx4LUArL7
https://dl.doubtnut.com/l/_LfHnKAKCOznZ


Watch Video Solution

33. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

B ∩ C

34. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

Watch Video Solution

x : x x : x

x : x x : x

B ∩ D

35. If A = {  is a natural number }, B = {  is an even natural number} 


C = {  is an odd natural number} and D = {  is a prime number }, find

W t h Vid S l ti

x : x x : x

x : x x : x

C ∩ D

https://dl.doubtnut.com/l/_LfHnKAKCOznZ
https://dl.doubtnut.com/l/_iOtuMHC47IYc
https://dl.doubtnut.com/l/_2xaoliZLPzV4
https://dl.doubtnut.com/l/_tCTIA1EnuDXD


Watch Video Solution

36. Which of the following pairs of sets are disjoint 

 and {  is a natural number and  }

Watch Video Solution

{1, 2, 3, 4} x : x 4 ≤ x ≤ 6

37. Which of the following pairs of sets are disjoint 

Watch Video Solution

{a, e, i, o, u} and {c, d, e, f}

38. Which of the following pairs of sets are disjoint 

{  is an even integer } and {  is an odd integer}

Watch Video Solution

x : x x : x

https://dl.doubtnut.com/l/_tCTIA1EnuDXD
https://dl.doubtnut.com/l/_5BYSdUpHr305
https://dl.doubtnut.com/l/_VbWDMGiJGx0p
https://dl.doubtnut.com/l/_uuY5H2zLRfFv


39. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– D

40. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– C

41. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

A– D

https://dl.doubtnut.com/l/_w3j3YJ804zVQ
https://dl.doubtnut.com/l/_e7m6XJX2nL6j
https://dl.doubtnut.com/l/_tIWiXwbOYgPQ
https://dl.doubtnut.com/l/_yCzkzXTOlHjp


42. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– A

43. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– A

44. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– A

https://dl.doubtnut.com/l/_yCzkzXTOlHjp
https://dl.doubtnut.com/l/_Paw9VcbgMe7w
https://dl.doubtnut.com/l/_9TApQpxUdGfr


45. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– C

46. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

B– D

47. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– B

https://dl.doubtnut.com/l/_yeP7sOB1bePQ
https://dl.doubtnut.com/l/_vL3WYtnOBQ0Q
https://dl.doubtnut.com/l/_D9MEnRhV8ifc
https://dl.doubtnut.com/l/_PL238khCGwcj


48. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– B

49. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

C– D

50. If , 


, find 


Watch Video Solution

A = {3, 6, 9, 12, 15, 18, 21}, B = {4, 8, 12, 16, 20}

C = {2, 4, 6, 8, 10, 12, 14, 16}, D = {5, 10, 15, 20}

D– C

https://dl.doubtnut.com/l/_PL238khCGwcj
https://dl.doubtnut.com/l/_xAGjnob0ONlG
https://dl.doubtnut.com/l/_Qph6rHHyWzXg


51. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

X– Y

52. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

Y – X

53. If , find 


Watch Video Solution

X = {a, b, c, d} and Y = {f, b, d, g}

X ∩ Y

54. If R is the set of real numbers and Q is the set of rational numbers,

then what is ?R– Q

https://dl.doubtnut.com/l/_Cdo9DByJxxnT
https://dl.doubtnut.com/l/_Xw9ivFoVlKi2
https://dl.doubtnut.com/l/_5gHFkxefJlsa
https://dl.doubtnut.com/l/_pFP9YSajz7gT


Watch Video Solution

55. State whether each of the following statement is true or false. Justify

your answer. 

 are disjoint sets.

Watch Video Solution

{2, 3, 4, 5} and {3, 6}

56. State whether each of the following statement is true or false. Justify

your answer. 

 are disjoint sets.

Watch Video Solution

{a, e, i, o, u} and {a, b, c, d}

57. State whether each of the following statement is true or false. Justify

your answer. 

 are disjoint sets.

Watch Video Solution

{2, 6, 10, 14} and {3, 7, 11, 15}

https://dl.doubtnut.com/l/_pFP9YSajz7gT
https://dl.doubtnut.com/l/_1yGl9d2dIDPK
https://dl.doubtnut.com/l/_9MkgJKdREuOC
https://dl.doubtnut.com/l/_Fml9oTWydfal


Exercise 1 5

58. State whether each of the following statement is true or false. Justify

your answer. 

 are disjoint sets.

Watch Video Solution

{2, 6, 10} and {3, 7, 11}

1. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

A'

https://dl.doubtnut.com/l/_Fml9oTWydfal
https://dl.doubtnut.com/l/_mkf2b0z18l3E
https://dl.doubtnut.com/l/_IoF2H4V2LOjA


2. Let

. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8} and C = {3,

B'

3. Let  

. Find the following sets.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8}

and C = {3, 4, 5, 6}

A ∪ C, (A ∪ C)' = U − (A ∪ C)

4. Let  and

C = { 3, 4, 5, 6 }. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8}

(A ∪ B)'

https://dl.doubtnut.com/l/_2ZKUIodFVAXf
https://dl.doubtnut.com/l/_P5ErEAGyVsyy
https://dl.doubtnut.com/l/_SP9sKt3G0smZ


5. Let  and

C = { 3, 4, 5, 6 }. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8}

(A' )'

6. Let  and

C = { 3, 4, 5, 6 }. 

Find 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {1, 2, 3, 4}, B = {2, 4, 6, 8}

(B– C)'

7. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

A = {a, b, c}

https://dl.doubtnut.com/l/_puyAC5HZRqXs
https://dl.doubtnut.com/l/_siRQP2xQQiPe
https://dl.doubtnut.com/l/_OiMPhgX2FRUf
https://dl.doubtnut.com/l/_WXs4oHFum37d


8. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

B = {d, e, f, g}

9. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

C = {a, c, e, g}

10. If , find the complements of the following

sets : 

Watch Video Solution

U = {a, b, c, d, e, f, g, h}

D = {f, g, h, a}

https://dl.doubtnut.com/l/_WXs4oHFum37d
https://dl.doubtnut.com/l/_KlionVh1QI8F
https://dl.doubtnut.com/l/_1JhvH0T2P51O


11. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is an even natural number}

Watch Video Solution

x : x

12. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is an odd natural number }

Watch Video Solution

x : x

13. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a positive multiple of 3}

Watch Video Solution

x : x

https://dl.doubtnut.com/l/_jMxsnbqvHSbk
https://dl.doubtnut.com/l/_7nyktbgV5o3G
https://dl.doubtnut.com/l/_vBIq7jpKsbFW
https://dl.doubtnut.com/l/_D42xQ5bd0Ex8


14. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a prime number }

Watch Video Solution

x : x

15. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a natural number divisible by 3 and 5}

Watch Video Solution

x : x

16. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a perfect square }

Watch Video Solution

x : x

https://dl.doubtnut.com/l/_D42xQ5bd0Ex8
https://dl.doubtnut.com/l/_KsFXaSyezOKF
https://dl.doubtnut.com/l/_BptLZ0Lkery6


17. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a perfect square }

Watch Video Solution

x : x

18. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

Watch Video Solution

{x : x + 5 = 8}

19. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

Watch Video Solution

{x : 2x + 5 = 9}

https://dl.doubtnut.com/l/_6Mc9VyRhcuQ2
https://dl.doubtnut.com/l/_3imSCGegvQCN
https://dl.doubtnut.com/l/_7lZykIZaIRnr
https://dl.doubtnut.com/l/_oA2OYoJer6oQ


20. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

Watch Video Solution

{x : x ≥ 7}

21. Taking the set of natural numbers as the universal set, write down the

complements of the following sets: 

{  is a positive multiple of 3}

Watch Video Solution

x : x

22. If .

Verify that 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8} and B = {2, 3, 5, 7}

(A ∪ B)' = A' ∩ B'

https://dl.doubtnut.com/l/_oA2OYoJer6oQ
https://dl.doubtnut.com/l/_l2aa0JTs64E6
https://dl.doubtnut.com/l/_uJ9TbDHNpMfQ


23. If .

Verify that 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8} and B = {2, 3, 5, 7}

(A ∩ B)' = A' ∪ B'

24. Draw appropriate Venn diagram for each of the following : 

Watch Video Solution

(A ∪ B)'

25. Draw appropriate Venn diagram for each of the following : 

Watch Video Solution

A' ∩ B'

https://dl.doubtnut.com/l/_cL45o3X7Wrhp
https://dl.doubtnut.com/l/_VP3HvTT3rwuZ
https://dl.doubtnut.com/l/_MpoLSS2o1aN9


26. Draw appropriate Venn diagram for each of the following : 

Watch Video Solution

(A ∩ B)'

27. Draw appropriate Venn diagram for each of the following : 

Watch Video Solution

A' ∪ B'

28. Let U be the set of all triangles in a plane. If A is the set of all triangles

with at least one angle different from 60°, what is A′?

Watch Video Solution

29. Fill in the blanks to make each of the following a true statement : 

A ∪ A' = . . .

https://dl.doubtnut.com/l/_r7TSWMiCB31Q
https://dl.doubtnut.com/l/_ogMZl9nkVJiV
https://dl.doubtnut.com/l/_Y23QHjBfgaLj
https://dl.doubtnut.com/l/_qjKVOZHV62Ky


Exercise 1 6

Watch Video Solution

30. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

U' ∩ A = . . .

31. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

A ∩ A' = . . .

32. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

U' ∩ A = . . .

https://dl.doubtnut.com/l/_qjKVOZHV62Ky
https://dl.doubtnut.com/l/_mfUrFqhEaFW2
https://dl.doubtnut.com/l/_TPrckHQEBAb2
https://dl.doubtnut.com/l/_8jfMinxf10IZ


1. If X and Y are two sets such that

, find .

Watch Video Solution

n(X) = 17, n(Y ) = 23 and n(X ∪ Y ) = 38 n(X ∩ Y )

2. If X and Y are two sets such that  has 18 elements, X has 8

elements and Y has 15 elements , how many elements does  have?

Watch Video Solution

X ∪ Y

X ∩ Y

3. In a group of 400 people, 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English?

Watch Video Solution

4. If S and T are two sets such that S has 21 elements, T has 32 elements,

and  has 11 elements, how many elements does  have?S ∩ T S ∪ T

https://dl.doubtnut.com/l/_NeTibt71KztQ
https://dl.doubtnut.com/l/_MUeVNtKT2isZ
https://dl.doubtnut.com/l/_yvJNVJ5FkZBj
https://dl.doubtnut.com/l/_xyc3jP6a210K


Watch Video Solution

5. If X and Y are two sets such that X has 40 elements,  has 60

elements and  has 10 elements, how many elements does Y have?

Watch Video Solution

X ∪ Y

X ∩ Y

6. In a group of 70 people, 37 like coffee, 52 like tea and each person likes

at least one of the two drinks. How many people like both coffee and tea?

Watch Video Solution

7. In a group of 65 people, 40 like cricket, 10 like both cricket and tennis.

How many like tennis only and not cricket? How many like tennis?

Watch Video Solution

https://dl.doubtnut.com/l/_xyc3jP6a210K
https://dl.doubtnut.com/l/_3GnSl3edhBCP
https://dl.doubtnut.com/l/_88BxYCtcWJFt
https://dl.doubtnut.com/l/_sCrBU38pQ2IR


Practice Work

8. In a committee, 50 people speak French, 20 speak Spanish and 10 speak

both Spanish and French. How many speak at least one of these two

languages?

Watch Video Solution

1. Which of the following are sets ? Justify your answer. 

The collection of all the months of a year beginning with the letter J.

Watch Video Solution

2. Which of the following are sets? Justify your answer : 

The collection of first five prime minister of India.

Watch Video Solution

https://dl.doubtnut.com/l/_crt1GLiZMNwQ
https://dl.doubtnut.com/l/_XwUCAW47Gk2W
https://dl.doubtnut.com/l/_CjYGOrAH51pg
https://dl.doubtnut.com/l/_NUc8gemKUYQ1


3. Which of the following are sets? Justify your answer : 

The collection of best cricketer of India.

Watch Video Solution

4. Which of the following are sets? Justify your answer : 

The collection of all prime numbers.

Watch Video Solution

5. Which of the following are sets? Justify your answer : 

The collection of hard chapter in Maths.

Watch Video Solution

6. Let . Insert the appropriate symbol  in

the blank spaces: 

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

4. . . A

https://dl.doubtnut.com/l/_NUc8gemKUYQ1
https://dl.doubtnut.com/l/_oMIhUUMjOR0Y
https://dl.doubtnut.com/l/_rM1Z9K6xTQJi
https://dl.doubtnut.com/l/_dmJD1vMT6FG6


Watch Video Solution

7. . Insert the appropriate symbol  in

the blank space. 

Watch Video Solution

A = {0, 2, 4, 6, 8, 10} ∈  or ∉

−4………A

8. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

0. . . A

9. . Insert the appropriate symbol  in

the blank space. 

W t h Vid S l ti

A = {0, 2, 4, 6, 8, 10} ∈  or ∉

12………A

https://dl.doubtnut.com/l/_dmJD1vMT6FG6
https://dl.doubtnut.com/l/_8jZjB1vyig7T
https://dl.doubtnut.com/l/_FE43PM23FEvq
https://dl.doubtnut.com/l/_aO5o4qAWBV6q


Watch Video Solution

10. Let . Insert the appropriate symbol  in

the blank spaces: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6} ∈ or ∉

8. . . A

11. . Insert the appropriate symbol  in

the blank space. 

Watch Video Solution

A = {0, 2, 4, 6, 8, 10} ∈  or ∉

−2………A

12. Write the following sets in roster form : 

A= { x : x is a prime natural numbers }

Watch Video Solution

10 < x < 20

https://dl.doubtnut.com/l/_aO5o4qAWBV6q
https://dl.doubtnut.com/l/_k9xTcmw59DVb
https://dl.doubtnut.com/l/_FH89UsWfe8lk
https://dl.doubtnut.com/l/_QunZYYtI0Uyq
https://dl.doubtnut.com/l/_j2KWBzyBeiFU


13. Write the following sets in roster form : 

Watch Video Solution

B = {x : x ∈ Z, x2 < 20}

14. Write the following sets in roster form : 

Watch Video Solution

C = {x : x ∈ N, x = 2n, n ∈ N}

15. Write the following sets in roster form : 

D= {x : x is integers }

Watch Video Solution

x2 − 9 = 0

16. Write the following sets in roster form : 

E= {x : x is a positive factor of 18}

https://dl.doubtnut.com/l/_j2KWBzyBeiFU
https://dl.doubtnut.com/l/_R2iOtVbInRZP
https://dl.doubtnut.com/l/_lqckrG6JSaeO
https://dl.doubtnut.com/l/_Yiep0hT5Nszo


Watch Video Solution

17. Write the following sets in the set builder form : 

Watch Video Solution

A = {1, , , , , ……….}
1

2

1

3

1

4

1

5

18. Write the following sets in the set builder form : 

Watch Video Solution

B = { − 2, − 1, 0, 1, 2, 3, 4}

19. Write the following sets in the set builder form : 

Watch Video Solution

C = { , , , , , , }
1

2

2

5

3

10
4

17

5

26

6

37

7
50

https://dl.doubtnut.com/l/_Yiep0hT5Nszo
https://dl.doubtnut.com/l/_4hLNEf3j7jpn
https://dl.doubtnut.com/l/_AsG66L2SZI0t
https://dl.doubtnut.com/l/_pRa68qNEpev1


20. Write the following sets in the set builder form : 

Watch Video Solution

D = {10, 11, 12, 13, 14, 15}

21. Write the following sets in the set builder form : 

Watch Video Solution

E = {1, 2, 5, 10}

22. List all the elements of the following sets : 

Watch Video Solution

A = {x : x2 < 10, x ∈ Z}

23. List all the elements of the following sets : 

B= {x : x is a letter of the word ''EQUATION''}

https://dl.doubtnut.com/l/_WzQLQGxjvGOj
https://dl.doubtnut.com/l/_y8HQh1YDXAba
https://dl.doubtnut.com/l/_pJknf8Wi60Mb
https://dl.doubtnut.com/l/_yNSC0LmohfrS


Watch Video Solution

24. List all the elements of the following sets : 

C= {x : The solution of }

Watch Video Solution

x2 + 5x + 6 = 0

25. List all the elements of the following sets : 

Watch Video Solution

D = {x : x = n ∈ N, n ≤ 9}
n

n + 1

26. List all the elements of the following sets : 

Watch Video Solution

E = {x : x = n ∈ N, 1 ≤ n ≤ 5}
1

2n − 1

https://dl.doubtnut.com/l/_yNSC0LmohfrS
https://dl.doubtnut.com/l/_THYAlqBOaNsh
https://dl.doubtnut.com/l/_BDommzLIqGuZ
https://dl.doubtnut.com/l/_OqbvpM8xP5A2


27. Match each of the set on the left in the roster form with the same set

on the right described in set builder form : 

Watch Video Solution

28. Which of the following sets are empty sets ? 

Watch Video Solution

{x : x ∈ R, x2 + 2 = 0}

29. Which of the following sets are empty sets ? 

{x : x ∈ N, 5 < x < 6}

https://dl.doubtnut.com/l/_4mBp6zB7oe1G
https://dl.doubtnut.com/l/_TQOewgot1hsx
https://dl.doubtnut.com/l/_sN28WunVIggt


Watch Video Solution

30. Which of the following sets are empty sets ? 

Watch Video Solution

{x : x ∈ N, x2 = 9}

31. Which of the following sets are empty sets ? 

Watch Video Solution

{x : x2 − 2 = 0, x  is a rational number }

32. Which of the following sets are empty sets ? 

{x : x is neither prime nor composite number}.

Watch Video Solution

https://dl.doubtnut.com/l/_sN28WunVIggt
https://dl.doubtnut.com/l/_TpDBJ1iUdSL5
https://dl.doubtnut.com/l/_MDR4HvpoD7Md
https://dl.doubtnut.com/l/_XhZTPojN6elY


33. Which of the following sets are finite or infinite : 

Set of concentric circle in a plane.

Watch Video Solution

34. Which of the following sets are finite or infinite : 

Watch Video Solution

{x : x ∈ R, 0 < x < 1}

35. Which of the following sets are finite or infinite : 

The set of odd natural numbers.

Watch Video Solution

36. Which of the following sets are finite or infinite : 

{x : x ∈ N, x < 200}

https://dl.doubtnut.com/l/_uUT99KZesO80
https://dl.doubtnut.com/l/_UON8D1Mb0xQZ
https://dl.doubtnut.com/l/_aTOx8D7NMI4k
https://dl.doubtnut.com/l/_WEC15TpJVEu1


Watch Video Solution

37. Which of the following sets are finite or infinite : 

Watch Video Solution

{x : x ∈ Z, x < 5}

38. Are the following pari of sets equal? Give reasons 

A= {x : x is a letter in the word LOYAL} 

B= { y : y is a letter in the word ALLOY}.

Watch Video Solution

39. Are the following pari of sets equal? Give reasons 

 


Watch Video Solution

A = {x : x ∈ Z, x2 ≤ 8}

B = {y : y ∈ R, y  is a solution of y2 − 4y + 3 = 0}

https://dl.doubtnut.com/l/_WEC15TpJVEu1
https://dl.doubtnut.com/l/_gNa9EqbSTu7O
https://dl.doubtnut.com/l/_rfFjWlWXcrwD
https://dl.doubtnut.com/l/_uU6zxYJekLi2


40. Are the following pari of sets equal? Give reasons 

A= {x : x is a positive integers solution of } 


Watch Video Solution

x2 − 2x − 15 = 0

B = {y : y ∈ N, y2 = 25}

41. Are the following pair of sets equal? Give reasons 

 


.

Watch Video Solution

A = {p, q, r, s}

B = {q, p, s, r}

42. Are the following pair of sets equal? Give reasons 

A= {x : x is a letter in the word REAP} 

B= {y : y is a letter in the word ROPE}.

Watch Video Solution

https://dl.doubtnut.com/l/_2okRO4vn0JNK
https://dl.doubtnut.com/l/_gS6DrrmIhXNM
https://dl.doubtnut.com/l/_Hcge21vruV9B
https://dl.doubtnut.com/l/_VaSSbWNwmbQz


43. From the sets given below, select equal sets. 

 


 


 


 


 


.

Watch Video Solution

A = {x : x ∈ N, x < 3}

B = {1, 2}

C = {3, 1}

D = {x : x ∈ N, x  is odd number x < 5}

E = {2, 1}

F = {1, 3}

44. Using symbols  fill in the following blanks : 


Watch Video Solution

⊂  and ⊂

{           }………. . {1, 4, 8}

45. Using sybols  fill in the following blanks : 


Watch Video Solution

⊂  and ⊂

a…………. . {a, b, c}

https://dl.doubtnut.com/l/_VaSSbWNwmbQz
https://dl.doubtnut.com/l/_a5Sk7RMHtesW
https://dl.doubtnut.com/l/_HzoqTyE2GUc1


46. Using sybols  fill in the following blanks : 


Watch Video Solution

⊂  and ⊂

{a}…………. {a, b, c}

47. Using symbols  fill in the following blanks : 


Watch Video Solution

⊂  and ⊂

{2, 4, 6}…………{2, 4, 6, 8, ……. , ……}

48. Using sybols  fill in the following blanks : 


Watch Video Solution

⊂  and ⊂

{x, y, z}………. . {x, y, z}

https://dl.doubtnut.com/l/_HzoqTyE2GUc1
https://dl.doubtnut.com/l/_V8N7bNzUV9ws
https://dl.doubtnut.com/l/_snhDxrqNIoEC
https://dl.doubtnut.com/l/_homjAxrbrLQE


49. Examine whether the following statements are true or false : 

Watch Video Solution

ϕ ⊂ {x, y, z}

50. Examine whether the following statements are true or false : 

{x : x is a letter in the word SCHOOL}  {x : x is a letter of english

alphabet}.

Watch Video Solution

⊂

51. Examine whether the following statements are true or false : 

. Where R is the set of real number.

Watch Video Solution

{π} ⊂ R

https://dl.doubtnut.com/l/_b5rI0wFgnl6m
https://dl.doubtnut.com/l/_dKv8y0hNzrwJ
https://dl.doubtnut.com/l/_OyjLsoxbrYXs


52. Examine whether the following statements are true or false : 

. Where N is the set of natural number.

Watch Video Solution

{π} ⊂ N

53. Examine whether the following statements are true or false : 

{x : x is the collection of all birds}  {x : x is the collection of parrot}

Watch Video Solution

⊂

54.  which of the following statements are correct? 


Watch Video Solution

A = {a, b, {c, d}, e}

{a, b, c} ⊂ A

55.  which of the following statements are correct? 
A = {a, b{c, d}, e}

ϕ ∈ A

https://dl.doubtnut.com/l/_rimmNQJf91D9
https://dl.doubtnut.com/l/_OUJ0BaRMCZb3
https://dl.doubtnut.com/l/_tkgyTWsFBkkj
https://dl.doubtnut.com/l/_jebFyahAqoFK


Watch Video Solution

56.  which of the following statements are correct? 


Watch Video Solution

A = {a, b, {c, d}, e}

{{c, d}} ⊂ A

57.  which of the following statements are correct? 


Watch Video Solution

A = {a, b, {c, d}, e}

a ∈ A

58.  which of the following statements are correct? 


Watch Video Solution

A = {a, b, {c, d}, e}

{a, b, e} ⊂ A

https://dl.doubtnut.com/l/_jebFyahAqoFK
https://dl.doubtnut.com/l/_cARSrnNpyV9x
https://dl.doubtnut.com/l/_MovejEv7iNzn
https://dl.doubtnut.com/l/_q1MZYl3gCGzb


59. Write down all the subsets of the following sets : 

Watch Video Solution

{0, 1}

60. Write down all the subsets of the following sets : 

Watch Video Solution

{5, {5}}

61. Write down all the subsets of the following sets : 

Watch Video Solution

{ϕ}

62. Write down all the subsets of the following sets 

{1, 2, 3}

https://dl.doubtnut.com/l/_lsIxFxko0Ra0
https://dl.doubtnut.com/l/_ICbngnTzNob8
https://dl.doubtnut.com/l/_b24RH0fc8umx
https://dl.doubtnut.com/l/_3tXXA5Uw1Gz0


Watch Video Solution

63. If  then how many elements are in ?

Watch Video Solution

A = ϕ n[P [P (ϕ)]]

64. Write the following as interval. 

Watch Video Solution

{x : x ∈ R, 5 ≤ x ≤ 12}

65. Write the following as interval. 

Watch Video Solution

{x : x ∈ R, 0 < x ≤ 8}

https://dl.doubtnut.com/l/_3tXXA5Uw1Gz0
https://dl.doubtnut.com/l/_7vVz5zyNS6lO
https://dl.doubtnut.com/l/_lZWUi6gY8ubJ
https://dl.doubtnut.com/l/_zkERyreJ0YWh


66. Write the following as interval. 

Watch Video Solution

{x : x ∈ R, − 2 < x < 5}

67. Write the following as interval. 

Watch Video Solution

{x : x ∈ R, 4 ≤ x < 16}

68. Write the following interval in set builder form. 

Watch Video Solution

( − 7, 1)

69. Write the following interval in set builder form. 

(0, 10)

https://dl.doubtnut.com/l/_SxH3NIcBGWb3
https://dl.doubtnut.com/l/_c0uMrZfaKfzD
https://dl.doubtnut.com/l/_wdoHfzCn1Bdf
https://dl.doubtnut.com/l/_3ZpV9YLVUzQB


Watch Video Solution

70. Write the following interval in set builder form. 

Watch Video Solution

(1, 18)

71. Write the following interval in set builder form. 

Watch Video Solution

(0, 8)

72. What universal set would you propose for each of the following : 

The set of circles with unit radius.

Watch Video Solution

https://dl.doubtnut.com/l/_3ZpV9YLVUzQB
https://dl.doubtnut.com/l/_NMBUSY4GL3gC
https://dl.doubtnut.com/l/_zVxf7w4oFSQC
https://dl.doubtnut.com/l/_6qamfADrQT39


73. What universal set would you propose for each of the following : 

The set of squares.

Watch Video Solution

74. What universal set would you propose for each of the following : 

The set of rectangles.

Watch Video Solution

75. Find the union of each of the following pairs of sets. 

Watch Video Solution

A = {2, 4, 6, 8}, B = {1, 3, 5}

76. Find the union of each of the following pairs of sets. 

A = {x : x = 2n + 1, n ∈ Z}, B = {x : x = 2n, n ∈ Z}

https://dl.doubtnut.com/l/_Z0IuXphp6v1Q
https://dl.doubtnut.com/l/_KUC4G8LbgO09
https://dl.doubtnut.com/l/_xfb27OzUyjUq
https://dl.doubtnut.com/l/_CsB7nf80QV7T


Watch Video Solution

77. Find the union of each of the following pairs of sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {2, 3, 5, 7}

78. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

A ∪ B

79. 

. 

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

https://dl.doubtnut.com/l/_CsB7nf80QV7T
https://dl.doubtnut.com/l/_03sstFtGe9xA
https://dl.doubtnut.com/l/_Wsi98A0k7lAn
https://dl.doubtnut.com/l/_e811hpNVEi7t


Find the following sets. 

Watch Video Solution

B ∪ C

80. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

A ∪ B ∪ C

81. 

. 

Find the following sets. 

W t h Vid S l ti

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

A ∩ C

https://dl.doubtnut.com/l/_e811hpNVEi7t
https://dl.doubtnut.com/l/_hJFkryfiDPxZ
https://dl.doubtnut.com/l/_oiBkywARRyn6


Watch Video Solution

82. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

A ∪ B ∪ C

83. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

A ∩ (B ∪ D)

https://dl.doubtnut.com/l/_oiBkywARRyn6
https://dl.doubtnut.com/l/_x2WCZzDLgJQk
https://dl.doubtnut.com/l/_Rr4M1qYq15kC


84. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

(A ∩ B) ∩ (B ∪ C)

85. 

. 

Find the following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {4, 5, 6, 7, 8}, C = {7, 8, 9, 10, 11}, D = {10, 11, 12

(A ∪ D) ∩ (B ∪ C)

86. Which of the following pairs of sets are disjoint : 

 
{x : x ∈ N, 1 < x < 5}

https://dl.doubtnut.com/l/_03DHL6KJB1Ef
https://dl.doubtnut.com/l/_x3TamBTscVdH
https://dl.doubtnut.com/l/_uS1ttGz7qd9e


Watch Video Solution

{x : x ∈ Z, − 5 < x < 1}

87. Which of the following pairs of sets are disjoint : 

{x : x is a letter in the word july} 

{x : x a letter in the word March}

Watch Video Solution

88. Which of the following pairs of sets are disjoint : 

Watch Video Solution

{2, 4, 6, 8, 10}  and {2, 3, 5, 7, 11}

89. , then find the

following sets. 

A = {1, 2, 3, 4, 5}, B = {1, 3, 5, 6}, C = {1, 2, 3}

A − B

https://dl.doubtnut.com/l/_uS1ttGz7qd9e
https://dl.doubtnut.com/l/_Q1V12VV6tG5S
https://dl.doubtnut.com/l/_0TUCHGyK6KpS
https://dl.doubtnut.com/l/_GIm9INPWRvfE


Watch Video Solution

90. , then find the

following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {1, 3, 5, 6}, C = {1, 2, 3}

A − C

91. , then find the

following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {1, 3, 5, 6}, C = {1, 2, 3}

B − C

92. , then find the

following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {1, 3, 5, 6}, C = {1, 2, 3}

A − (B − C)

https://dl.doubtnut.com/l/_GIm9INPWRvfE
https://dl.doubtnut.com/l/_WIptkZpq0CGl
https://dl.doubtnut.com/l/_C92uwAbcIJRC
https://dl.doubtnut.com/l/_Lzo6f7pAmYkZ


Watch Video Solution

93. , then find the

following sets. 

Watch Video Solution

A = {1, 2, 3, 4, 5}, B = {1, 3, 5, 6}, C = {1, 2, 3}

A − (B ∩ C)

94. 

.

Show that A and B are disjoint sets but A and C are not disjoint sets.

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}, B = {7, 8, 9, 10, 11}  and C = {6, 8, 10, 12, 14}

95. Let  


 then find the following sets. 


Watch Video Solution

U = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}, A = {4, 8, 16, 12},

B = {1, 2, 3, 4, 5}, C = {4, 8, 12, 16, 20}

A'

https://dl.doubtnut.com/l/_Lzo6f7pAmYkZ
https://dl.doubtnut.com/l/_eqSw2JPImUCA
https://dl.doubtnut.com/l/_O3SlkrEwxvZj
https://dl.doubtnut.com/l/_dQHVELrjO7s2


96. Let 


 then find the following sets. 


.

Watch Video Solution

U = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}, A = {4, 8, 16, 12},

B = {1, 2, 3, 4, 5}, C = {4, 8, 12, 16, 20}

B'

97. Let 


 then find the following sets. 


Watch Video Solution

U = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}, A = {4, 8, 16, 12},

B = {1, 2, 3, 4, 5}, C = {4, 8, 12, 16, 20}

(A ∩ B)'

98. Let  


B= {1, 2, 3, 4, 5},  then find the following sets. 


Watch Video Solution

U = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}, A = {4, 8, 16, 12},

C = {4, 8, 12, 16, 20}

(A ∪ C)'

https://dl.doubtnut.com/l/_dQHVELrjO7s2
https://dl.doubtnut.com/l/_pqwXLVWYVIxF
https://dl.doubtnut.com/l/_2auzbI8V8Orw
https://dl.doubtnut.com/l/_BT3gSv8MwJVx


99. Let  

 then find the following sets. 


Watch Video Solution

U = {2, 4, 6, 8, 10, 12, 14, 16, 18, 20}, A = {4, 8, 16, 12},

B = {1, 2, 3, 4, 5}, C = {4, 8, 12, 16, 20}

(B − C)'

100.  then find the complement of the

following sets : 

Watch Video Solution

U = {h, i, j, k, l, m, n, o, p}

A = {h, k, o, p}

101.  then find the complement of the

following sets : 

Watch Video Solution

U = {h, i, j, k, l, m, n, o, p}

B = {j, k, l, m}

https://dl.doubtnut.com/l/_aUPSzXVANU4A
https://dl.doubtnut.com/l/_33pBbI4DfNDl
https://dl.doubtnut.com/l/_vRCTpNfRuOO1


102.  then find the complement of the

following sets : 

Watch Video Solution

U = {h, i, j, k, l, m, n, o, p}

C = {i, j, l, m, n}

103.  then find the complement of the

following sets : 

Watch Video Solution

U = {h, i, j, k, l, m, n, o, p}

D = {h, i, j, k, l, m, o, p}

104. Taking the set of natural numbers as the universal set, write down

the complement of the following sets. 

Watch Video Solution

{x : x ∈ N, x ≥ 10}

https://dl.doubtnut.com/l/_6nkgvXyv5FLO
https://dl.doubtnut.com/l/_7Cq23IIvJ5rH
https://dl.doubtnut.com/l/_E8mGR1iURoNP


105. Taking the set of natural numbers as the universal set, write down

the complement of the following sets. 

Watch Video Solution

{x : 3x + 2 = 20}

106. Taking the set of natural numbers as the universal set, write down

the complement of the following sets. 

{x : x is a natural number divisible by 2 and 3}

Watch Video Solution

107. Taking the set of natural numbers as the universal set, write down

the complement of the following sets. 

{x : x is a prime or composite number}

Watch Video Solution

https://dl.doubtnut.com/l/_fpt5FWhjOKyp
https://dl.doubtnut.com/l/_JvoBWn4tnuc4
https://dl.doubtnut.com/l/_z7kWvd6JTDB5
https://dl.doubtnut.com/l/_cLcOe1LAnJEl


108. Taking the set of natural numbers as the universal set, write down

the complement of the following sets. 

{x : x is a multiple of 5}

Watch Video Solution

109. 

.

Verify the De morgon's Law.

Watch Video Solution

U = {x ∣ x ∈ N, 1 ≤ x ≤ 10}, A = {1, 3, 5, 7, 9}  and B = {2, 5, 8}

110. Fill in the blanks to make each of the following a true statement : 

The number of subsets of a set A having n elements is 

Watch Video Solution

……….

https://dl.doubtnut.com/l/_cLcOe1LAnJEl
https://dl.doubtnut.com/l/_cI8i64Od6AgW
https://dl.doubtnut.com/l/_nIPxwKn6tvBg


111. Fill in the blanks to make each of the following a true statement : 

Each set has at least  subsets.

Watch Video Solution

……….

112. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

A ∩ (A ∪ B) = …………

113. Fill in the blanks to make each of the following a true statement : 

 then 

Watch Video Solution

A = {x : x ∈ R, x ≥ 4}  and {x : x ∈ R, x < 5}

A ∩ B = ……….

https://dl.doubtnut.com/l/_P6lrzw5Pk0y2
https://dl.doubtnut.com/l/_lqFho6KayAOf
https://dl.doubtnut.com/l/_tIupLbxG5fp8


114. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

(A − B) ∪ (B − A) = ………….

115. Fill in the blanks to make each of the following a true statement : 

Watch Video Solution

(A' )' ………

116. In a town, 20% population travel by car, 50% travel by bus and 10%

population travel by both car and bus. How many population is travelled

by car or bus ?

Watch Video Solution

https://dl.doubtnut.com/l/_l6fI6AUstB1H
https://dl.doubtnut.com/l/_pie10KWHEQym
https://dl.doubtnut.com/l/_bQPLliXMzDbA


117. Out of 100 students, 55 passed in Mathematics and 67 passed in

Physics 100 students passed at least one of these two subjects. Find how

many students passed in Physics only?

Watch Video Solution

118. In a survey of a society, 1000 people speak Gujarati or Hindi. 50%

people speak Hindi and 70% speak Gujarati. Find how many percentage of

people speak both Gujarati and Hindi.

Watch Video Solution

119. In a school there are 20 teachers who teach mathematics or physics.

Of these, 12 teach mathematics and 4 teach both physics and

mathematics. How many teach physics ?

Watch Video Solution

https://dl.doubtnut.com/l/_UvANvkI2q8BN
https://dl.doubtnut.com/l/_pMz8TWEVIb1G
https://dl.doubtnut.com/l/_aBjkqOclZJ7Y
https://dl.doubtnut.com/l/_oLwoPXXKmH9m


120. If A and B be two sets containing 3 and 6 elements respectively. What

can be the minimum number of elements in ? Find also, the

maximum number of elements in .

Watch Video Solution

A ∪ B

A ∪ B

121. In a twon of 840 persons, 450 persons read Hindi 300 read English

and 200 read both newspapers. Then find the number of persons who

read neither of the newspapers.

Watch Video Solution

122. There are 880 boys in a school. Out of these 224 boys play cricket, 240

boys play hockey and 336 boys play basketball, 64 boys play both hockey

and basketball, 80 boys play both cricket and basketball and 40 boys play

both cricket and hockey. If 24 boys play all these three, then find the

number of boys play none of these three game.

Watch Video Solution

https://dl.doubtnut.com/l/_oLwoPXXKmH9m
https://dl.doubtnut.com/l/_7E8TByTvkwlD
https://dl.doubtnut.com/l/_hlPuM9OYlYTt


123. A students has freedom to study any subject of his choice. In a group

of students with number 1 to 300, the students whose number is divisible

by 3 select arts faculty. The students whose number divisible by 5 select

commerce faculty and the students whose number is divisible by 10 select

science faculty. Find the number of students who select only one faculty.

Watch Video Solution

124. In a class of 30 students, 12 students like emboidary, 16 students like

physics and 18 student like history. If all students select at least one

subject and none of them select all the subject then find the number of

students select 2 subject.

Watch Video Solution

125. A and B are two sets.  if and only if .

Watch Video Solution

(A − B) ∪ B = A B ⊂ A

https://dl.doubtnut.com/l/_hlPuM9OYlYTt
https://dl.doubtnut.com/l/_KsVxuJN4Jred
https://dl.doubtnut.com/l/_BtwrraJKKHfj
https://dl.doubtnut.com/l/_cR8cV7kXjgsd


Miscellaneous Exercise 1

126.  .

Watch Video Solution

A − (B ∩ C) = (A − B) ∩ (A − C)

127. For any two sets A and B, prove that .

Watch Video Solution

A ∪ B = A ∩ B ⇔ A = B

1. Decide, among the following sets, which sets are subsets of one and

another: 

A = {  satisfy  }, 


.

Watch Video Solution

x : x ∈ R and x x2– 8x + 12 = 0

B = {2, 4, 6}, C = {2, 4, 6, 8, . . . }, D = {6}

https://dl.doubtnut.com/l/_cR8cV7kXjgsd
https://dl.doubtnut.com/l/_axXX33KAIXqX
https://dl.doubtnut.com/l/_4un3OCenvqzD
https://dl.doubtnut.com/l/_isNYnfeF9HRu
https://dl.doubtnut.com/l/_qkfAJVFY35uC


2. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

x ∈ A and A ⊄ B x ∈ B

3. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊂ B and B ∈ C A ∈ C

4. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊂ B and B ⊂ C A ⊂ C

https://dl.doubtnut.com/l/_qkfAJVFY35uC
https://dl.doubtnut.com/l/_t4fGDyAxT9yg
https://dl.doubtnut.com/l/_Dco3D5Mki0co
https://dl.doubtnut.com/l/_cpQJhURkBRFW


5. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊄ B and B ⊄ C A ⊄ C

6. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

x ∈ A and A ⊄ B x ∈ B

7. In each of the following, determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example. 

If  , then 

Watch Video Solution

A ⊂ B and x ∉ B x ∉ A

https://dl.doubtnut.com/l/_cpQJhURkBRFW
https://dl.doubtnut.com/l/_hLuVBpJkJzae
https://dl.doubtnut.com/l/_ivhBYensa0Va


8. Let  be the sets such that 

. Show that .

Watch Video Solution

A, B, and C

A ∪ B = A ∪ C and A ∩ B = A ∩ C B = C

9. A is the set of prime number less than 10, B is the set of odd numbers

less than 10 and C is the set of even numbers of less than 10. Which of the

following statements are true? 

(i)  (ii)  (iii)  (iv)  (v)  (vi) 

Watch Video Solution

A ⊂ B B ⊂ A A ⊂ C C ⊂ A B ⊂ C ϕ ⊂ A

10. Show that if , then .

Watch Video Solution

A ⊂ B C– B ⊂ C– A

11. Assume that . Show that P (A) = P (B) A = B

https://dl.doubtnut.com/l/_bozRSXu8HQ9y
https://dl.doubtnut.com/l/_4iTNGOu0VDvo
https://dl.doubtnut.com/l/_jOAa7ygi7H7Q
https://dl.doubtnut.com/l/_1Oyb1ytS8q1j


Watch Video Solution

12. Is it true that for any sets ?

Justify your answer.

Watch Video Solution

A and B, P (A) ∪ P (B) = P (A ∪ B)

13. Show that for any sets A and B, 

Watch Video Solution

A = (A ∩ B) ∪ (A– B) and A ∪ (B– A) = (A ∪ B)

14. Using properties of sets, show that 

.

Watch Video Solution

A ∩ (A ∪ B) = A

https://dl.doubtnut.com/l/_1Oyb1ytS8q1j
https://dl.doubtnut.com/l/_WzlMjYU4BADO
https://dl.doubtnut.com/l/_nUeKrrLS7FTF
https://dl.doubtnut.com/l/_TQqoFEINpwiL


15. Using properties of sets, show that 

.

Watch Video Solution

A ∩ (A ∪ B) = A

16. Show that  need not imply .

Watch Video Solution

A ∩ B = A ∩ C B = C

17. Let A and B be sets. If  for

some set X, show that .

Watch Video Solution

A ∩ X = B ∩ X = φ and A ∪ X = B ∪ X

A = B

18. Find sets A, B and C such that  are non-

empty sets and .

Watch Video Solution

A ∩ B, B ∩ C and A ∩ C

A ∩ B ∩ C = φ

https://dl.doubtnut.com/l/_fuNi7fN7BawT
https://dl.doubtnut.com/l/_tCZ5NIIrYlb3
https://dl.doubtnut.com/l/_GglYvOnwnsPQ
https://dl.doubtnut.com/l/_ZDvPwZ4k3igt


19. In a survey of 600 students in a school, 150 students were found to be

taking tea and 225 taking coffee, 100 were taking both tea and coffee.

Find how many students were taking neither tea nor coffee?

Watch Video Solution

20. In a group of students, 100 students know Hindi, 50 know English and

25 know both. Each of the students knows either Hindi or English. How

many students are there in the group?

Watch Video Solution

21. In a survey of 60 people, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read both H and I, 11 read

both H and T, 8 read both T and I, 3 read all three newspapers. Find: 

the number of people who read at least one of the newspapers.

Watch Video Solution

https://dl.doubtnut.com/l/_ZDvPwZ4k3igt
https://dl.doubtnut.com/l/_9OuCs0yHQigl
https://dl.doubtnut.com/l/_UH6Bz8THyxyP
https://dl.doubtnut.com/l/_Khkm1oYW7uit


Textbook Based Mcqs

22. In a survey of 60 people, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read both H and I, 11 read

both H and T, 8 read both T and I, 3 read all three newspapers. Find: 

the number of people who read exactly one newspaper.

Watch Video Solution

23. In a survey it was found that 21 people liked product A, 26 liked

product B and 29 liked product C. If 14 people liked products A and B, 12

people liked products C and A, 14 people liked products B and C and 8

liked all the three products. Find how many liked product C only.

Watch Video Solution

https://dl.doubtnut.com/l/_Khkm1oYW7uit
https://dl.doubtnut.com/l/_2etH0yM8rhfT
https://dl.doubtnut.com/l/_FDh7tcZNiH4z


1. A and B are not singleton sets. . If 

.

A. 3

B. 7

C. 21

D. 1

Answer: B

Watch Video Solution

n(A × B) = 21

A ⊂ B  then n(B) = ……….

2.  then 

.

A. 

B. 

C. 

A = {x : x ∈ Z, x  is a solution of x4 − 16 = 0}

A = ……….

{ − 2, 2}

{2}

{ − 4}

https://dl.doubtnut.com/l/_pSQ6UPz7M16f
https://dl.doubtnut.com/l/_dN9uVFoNsvt6


D. 

Answer: A

Watch Video Solution

{ − 4, 4, − 2, 2}

3. If  then,

A. B is an empty set

B. B is a finite set

C. B is an infinite set

D. B is not a set

Answer: B

Watch Video Solution

B = {ϕ}

4. For real number R out of the following, which is not correct?

https://dl.doubtnut.com/l/_dN9uVFoNsvt6
https://dl.doubtnut.com/l/_e7Y9CrbRNlgC
https://dl.doubtnut.com/l/_Qhs8M5CY6bgf


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N ⊂ R

(a, b) ⊂ R, a < b

π ⊂ R

ϕ ⊂ R

5.  are subset of

which set?

A. 

B. 

C. 

D. 

Answer: B

A = {1, 2, 3, 4}, B = { − 1, 1, 0, − 2, 2}, C = {1, 3, 4}

(1, 4)

[ − 1, 4]

( − 2, 2)

( − 2, 4)

https://dl.doubtnut.com/l/_Qhs8M5CY6bgf
https://dl.doubtnut.com/l/_QfqpATK8qNzL


Watch Video Solution

6. The number of elements in the power set of 

is…………..

A. 9

B. 4

C. 1

D. 8

Answer: B

Watch Video Solution

{x : x ∈ N, x2 < 9}

7. If  then 

A. 

B. 

A ⊂ B A ∩ B = ..........

A ∩ B = ϕ

A ∩ B = A

https://dl.doubtnut.com/l/_QfqpATK8qNzL
https://dl.doubtnut.com/l/_QUojQnVq8jiF
https://dl.doubtnut.com/l/_dlaEXceitkiX


C. 

D. 

Answer: B

Watch Video Solution

A ∩ B = B

A ∪ B = A

8.  then 

.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

U = [ − 2, 1], A = {x : x ∈ N, x2 + x − 2 = 0}

A' = ……….

[1, 2]

[ − 2, 1]

[ − 2, 1)

( − 2, 1)

https://dl.doubtnut.com/l/_dlaEXceitkiX
https://dl.doubtnut.com/l/_kdjhBC1IAgi9
https://dl.doubtnut.com/l/_PecbBAK1odZL


9. Taking the set of natural number as universal set and

 then .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = {x : x − 8 = 3} A' = …………

N

{5}

N − {5}

N − {11}

10. If 


then  

A. 400

B. 600

C. 300

n(U) = 700, n(A) = 200, n(B) = 300, n(A ∩ B) = 100

n(A' ∩ B' ) = ……….

https://dl.doubtnut.com/l/_PecbBAK1odZL
https://dl.doubtnut.com/l/_rLPcrVOXwAjO


D. 200

Answer: C

Watch Video Solution

11. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na = {an : n ∈ N} N5 ∩ N7 = ……….

N7

N5

N35

N12

12. If aN = {ax : x ∈ N}  then 3N ∩ 7N = ……….

https://dl.doubtnut.com/l/_rLPcrVOXwAjO
https://dl.doubtnut.com/l/_PIO9YT4ehcRx
https://dl.doubtnut.com/l/_4EhnomRWNAnj


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

21N

10N

4N

13. For set  the number of its elements

is………..

A. 2

B. 4

C. 8

D. 12

Answer: C

{(a, b) : 2a2 + 3b2 = 35, a, b ∈ Z}

https://dl.doubtnut.com/l/_4EhnomRWNAnj
https://dl.doubtnut.com/l/_5RIL0EPOFKmk


Watch Video Solution

14. A and B are two sets 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(A − B) ∪ (B − A) ∪ (A ∩ B) = ………..

A ∪ B

A ∩ B

A

B'

15. 

then 

A. 

B. 

U = {x : x ∈ N, x ≤ 10}, A = {1, 3, 5, 7, 9}, B = {2, 4, 6, 8, 10}

(A ∪ B)' = …………

U

{2}

https://dl.doubtnut.com/l/_5RIL0EPOFKmk
https://dl.doubtnut.com/l/_W44uCdbWEBKR
https://dl.doubtnut.com/l/_CQjsOIswVF63


C. 

D. 

Answer: C

Watch Video Solution

ϕ

{1, 4, 7, 8}

16.  then,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {x : x ∈ N, x2 + 4 = 0}

A = { − 2, 2}

A = {2}

A = ϕ

A = {ϕ}

https://dl.doubtnut.com/l/_CQjsOIswVF63
https://dl.doubtnut.com/l/_bAWX02FlJqnt


17. For interval  which of the following statements is true?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, 1)

−1 ∈ ( − 1, 1)

0 ∈ ( − 1, 1)

( − 1, 1) = ( − 1, 1)

( − 1, 1) = {ϕ}

18. If  then,

A. 

B. 

C. 

D. none of these

A = {1, 3, 5, {2, 4}}  and B = {2, 4}

4 ∈ A

{4} ⊂ A

B ⊂ A

https://dl.doubtnut.com/l/_waz1LgIXweZ2
https://dl.doubtnut.com/l/_79EJOcmXKjUn


Answer: D

Watch Video Solution

19. Fill in the blanks to make each of the following a true statement : 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A − B) ∪ (B − A) = ………….

(A − B) ∪ A

(B − A) ∪ B

(A ∪ B) − (A ∩ B)

(A ∪ B) ∩ (A ∩ B)

20. Which of the following statements is false ?

https://dl.doubtnut.com/l/_79EJOcmXKjUn
https://dl.doubtnut.com/l/_8LjpS7UTQndC
https://dl.doubtnut.com/l/_w3lgjTOMkjJa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A − B = A ∩ B'

A − B = A − (A ∩ B)

A − B = A − B'

A − B = (A ∪ B) − B

21. A and B are mutually disjoint sets. Then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n(A ∪ B) = ………….

n(A) + n(B)

n(A) + (n(B) − n(A ∩ B)

n(A) + n(B) + n(A ∩ B)

n(A) − n(B)

https://dl.doubtnut.com/l/_w3lgjTOMkjJa
https://dl.doubtnut.com/l/_05wfQStQ1ZjD


22. Two finite sets have m and n elements. The number of elements in the

power set of first set is 48 more than the total number of elements in

power set of the second set. Then the value of m and n are………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7, 6

6, 3

6, 4

7, 4

23. For two sets A and B, prove that

.

A. 

A − (B ∩ C) = (A − B) ∪ (A − C)

(A − B)n ∪ (A − C)

https://dl.doubtnut.com/l/_05wfQStQ1ZjD
https://dl.doubtnut.com/l/_7tqvUVBeV579
https://dl.doubtnut.com/l/_ov6vQLHOAWjw


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(A − B) ∩ (A − C)

(B − A) ∪ (C − A)

24.  of the Americans like cheese where as  like apples. If 

of the Americans like both cheese and apples then………

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

63 % 76 % x %

x = 39

x = 63

39 ≤ x ≤ 63

https://dl.doubtnut.com/l/_ov6vQLHOAWjw
https://dl.doubtnut.com/l/_uYYU1S55hPah


Latest Exams Mcqs

25. For sets A and B,

. If

 then 

A. 26

B. 50

C. 24

D. none of these

Answer: D

Watch Video Solution

n(A − B) = 8 + 2x, n(B − A) = 6x  and n(A ∩ B) = x

n(A) = n(B) n(A ∩ B) = ………..

1. The sets A and B are following,

A = {(a, b) ∈ R × R : [a − 5] < 1  and |b − 5| < 1}, B = {(a, b) ∈ R ×

https://dl.doubtnut.com/l/_uYYU1S55hPah
https://dl.doubtnut.com/l/_5tegJhHerxHu
https://dl.doubtnut.com/l/_xBec5KZGjs91


. Then

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

B ⊂ A

A ⊂ B

A ∩ B = ϕ

A ⊂ B  and B ⊂ A

2. Let .

Then 

A. is an empty set

B. has only one element

C. has only two element

D. has only four element

S = {x ∈ R : x ≥ 0  and 2∣∣√x − 3∣∣ + √x(√x − 6) + 6 = 0}

S : …………

https://dl.doubtnut.com/l/_xBec5KZGjs91
https://dl.doubtnut.com/l/_UFGp8tcSBYIV


Textbook Illustrations For Practice Work

Answer: C

Watch Video Solution

1. Write the solution set of the equation  in roster form.

Watch Video Solution

x2 + x − 2 = 0

2. Write the set {x : x is a positive integer and } in the roster form.

Watch Video Solution

x2 < 40

3. Write the set A = {1, 4, 9, 16, 25, . . . }in set-builder form.

Watch Video Solution

https://dl.doubtnut.com/l/_UFGp8tcSBYIV
https://dl.doubtnut.com/l/_dwNtFLUBrTWt
https://dl.doubtnut.com/l/_HyVErP11QDce
https://dl.doubtnut.com/l/_pX0Dm4opLcWd
https://dl.doubtnut.com/l/_1W8MqZTAAGXP


4. Write the set  in the set-builder form.

Watch Video Solution

{ , , , , , }
1

2

2

3

3

4
4
5

5

6

6

7

5. Match each of the set on the left described in the roster form with the

same set on the right described in the set builder form : 

Watch Video Solution

6. State which of the following sets are finite or infinite. 

(i)  (ii)  


(iii)  (iv)  


(v) 

{x : x ∈ N and (x − 1)(x − 2) = 0} {x : x ∈ N and x2 = 4}

{x : x ∈ N and 2x − 2 = 0} {x : x ∈ N  is prime}

{x : x ∈ N and  x is odd}

https://dl.doubtnut.com/l/_1W8MqZTAAGXP
https://dl.doubtnut.com/l/_8Zc3ODhYMFPZ
https://dl.doubtnut.com/l/_5JY0yPBqZWgK


Watch Video Solution

7. State which of the following sets are finite or infinite : 

Watch Video Solution

{x : x ∈ N  and x2 = 4}

8. State which of the following sets are finite or infinite : 

Watch Video Solution

{x : x ∈ N  and 2x − 1 = 0}

9. State which of the following sets are finite or infinite : 

 and x is prime}

Watch Video Solution

{x : x ∈ N

https://dl.doubtnut.com/l/_5JY0yPBqZWgK
https://dl.doubtnut.com/l/_7OcKIZ7DB0jP
https://dl.doubtnut.com/l/_mA223vh1oynq
https://dl.doubtnut.com/l/_xsftoTBbvIfn


10. State which of the following sets are finite or infinite : 

 and x is odd}

Watch Video Solution

{x : x ∈ N

11. Find the pairs of equal sets, if any, give reasons: 

, 


, 


E = {x : x is an integral positive root of the equation }.

Watch Video Solution

A = {0}, B = {x : x > 15 and x < 5}

C = {x : x– 5 = 0}, D = {x : x2 = 25}

x2– 2x– 15 = 0

12. Which of the following pairs of sets are equal? Justify your answer. 

(i) X, the set of letters in “ALLOY” and B, the set of letters in “LOYAL”. 

(ii) 

.

Watch Video Solution

A = {n : n ∈ Z and n2 ≤ 4} and B = {x : x ∈ R and x2– 3x + 2 = 0}

https://dl.doubtnut.com/l/_xvue08OtIxHr
https://dl.doubtnut.com/l/_jBRk5QvBTZ7H
https://dl.doubtnut.com/l/_wJFSkWXlEkQ0


Watch Video Solution

13. Which of the following pairs of sets are equal? Justify your answer. 

(i) X, the set of letters in “ALLOY” and B, the set of letters in “LOYAL”. 

(ii) 

.

Watch Video Solution

A = {n : n ∈ Z and n2 ≤ 4} and B = {x : x ∈ R and x2– 3x + 2 = 0}

14. Consider the sets .

Insert the symbol  between each of the following pair of sets.

(i)  (ii) A....B (iii) A.....C (iv) B.....C

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

⊂ or ⊂

ϕ.... B

15. Consider the sets .

Insert the symbol  between each of the following pair of sets.

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

⊂ or ⊂

https://dl.doubtnut.com/l/_wJFSkWXlEkQ0
https://dl.doubtnut.com/l/_cVPMlE6QBGK4
https://dl.doubtnut.com/l/_j4WmL1ajRPtB
https://dl.doubtnut.com/l/_UtUXdESHasPE


(i)  (ii) A....B (iii) A.....C (iv) B.....C

Watch Video Solution

ϕ.... B

16. Consider the sets .

Insert the symbol  between each of the following pair of sets.

(i)  (ii) A....B (iii) A.....C (iv) B.....C

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

⊂ or ⊂

ϕ.... B

17. Consider the sets .

Insert the symbol  between each of the following pair of sets.

(i)  (ii) A....B (iii) A.....C (iv) B.....C

Watch Video Solution

ϕ, A = {1, 3}, B = {1, 5, 9}, C = {1, 3, 5, 7, 9}

⊂ or ⊂

ϕ.... B

18. Let . Is A a subset of B ? No.

(Why?). Is B a subset of A? No. (Why?)

A = {a, e, i, o, u} and B = {a, b, c, d}

https://dl.doubtnut.com/l/_UtUXdESHasPE
https://dl.doubtnut.com/l/_71jxZXynTld9
https://dl.doubtnut.com/l/_9sw20CUsob0f
https://dl.doubtnut.com/l/_QOdX1Q9OOB9a


Watch Video Solution

19. Let A, B and C be three sets. If , is it true that 

?. If not, give an example.

Watch Video Solution

A ∈ B and B ⊂ C

A ⊂ C

20. Let . Find .

Watch Video Solution

A = {2, 4, 6, 8} and B = {6, 8, 10, 12} A ∪ B

21. Let . Show that 

Watch Video Solution

A = {a, e, i, o, u} and B = {a, i, u} A ∪ B = A

22. Let X = {Ram, Geeta, Akbar} be the set of students of Class XI, who are

in school hockey team. Let Y = {Geeta, David, Ashok} be the set of students

https://dl.doubtnut.com/l/_QOdX1Q9OOB9a
https://dl.doubtnut.com/l/_wb23Y7XzTGUz
https://dl.doubtnut.com/l/_M6HOL4Yq7Ao5
https://dl.doubtnut.com/l/_awVtdSHAzxax
https://dl.doubtnut.com/l/_1e60zIDULMNN


from Class XI who are in the school football team. Find  and

interpret the set.

Watch Video Solution

X ∪ Y

23. Consider the sets A and B of Example 12. Find .

Watch Video Solution

A ∩ B

24. Consider the sets X and Y of Example 14. Find .

Watch Video Solution

X ∩ Y

25. Let . Find 

and hence show that .

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and B = {2, 3, 5, 7} A ∩ B

A ∩ B = B

https://dl.doubtnut.com/l/_1e60zIDULMNN
https://dl.doubtnut.com/l/_Spt2t8qFLqFQ
https://dl.doubtnut.com/l/_I8uvnbOWKpFW
https://dl.doubtnut.com/l/_hdRNR4B77OQY


26. Let . Find .

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}, B = {2, 4, 6, 8} A– B and B– A

27. Let . Find 

Watch Video Solution

V = {a, e, i, o, u} and B = {a, i, k, u} V – B and B– V

28. Let . Find A′.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} and A = {1, 3, 5, 7, 9}

29. Let U be universal set of all the students of Class XI of a coeducational

school and A be the set of all girls in Class XI. Find A′.

Watch Video Solution

https://dl.doubtnut.com/l/_xzCoLoALOurA
https://dl.doubtnut.com/l/_eQY0vp2Fz77V
https://dl.doubtnut.com/l/_BW5lx4TiRDs5
https://dl.doubtnut.com/l/_mcmDCx9xneTY


30. Let . 


Find  and hence show that 

.

Watch Video Solution

U = {1, 2, 3, 4, 5, 6}, A = {2, 3} and B = {3, 4, 5}

A' , B' , A' ∩ B' , A ∪ B

(A ∪ B)' = A' ∩ B'

31. If X and Y are two sets such that  has 50 elements, X has 28

elements and Y has 32 elements, how many elements does  have ?

Watch Video Solution

X ∪ Y

X ∩ Y

32. In a school there are 20 teachers who teach mathematics or physics.

Of these, 12 teach mathematics and 4 teach both physics and

mathematics. How many teach physics ?

Watch Video Solution

https://dl.doubtnut.com/l/_7IvxuOZtCgK2
https://dl.doubtnut.com/l/_W0DCg9DCQ3JO
https://dl.doubtnut.com/l/_RjQZVIYt8PVv


33. In a class of 35 students, 24 like to play cricket and 16 like to play

football. Also, each student likes to play at least one of the two games.

How many students like to play both cricket and football ?

Watch Video Solution

34. In a survey of 400 students in a school, 100 were listed as taking apple

juice, 150 as taking orange juice and 75 were listed as taking both apple

as well as orange juice. Find how many students were taking neither

apple juice nor orange juice.

Watch Video Solution

35. There are 200 individuals with a skin disorder, 120 had been exposed

to the chemical  to chemical , and 30 to both the chemicals 

. Find the number of individuals exposed to 


(i) Chemical  but not chemical  


C1, 50 C2

C1 and C2

C1 C2

https://dl.doubtnut.com/l/_cdoxexvfiWg0
https://dl.doubtnut.com/l/_kqRVk7VB3xPa
https://dl.doubtnut.com/l/_54GbFP43dh7K


(ii) Chemical  but not chemical  


(iii) Chemical  or chemical 

Watch Video Solution

C2 C1

C1 C2

36. There are 200 individuals with a skin disorder, 120 had been exposed

to the chemical  to chemical , and 30 to both the chemicals 

. Find the number of individuals exposed to 


(i) Chemical  but not chemical  


(ii) Chemical  but not chemical  


(iii) Chemical  or chemical 

Watch Video Solution

C1, 50 C2

C1 and C2

C1 C2

C2 C1

C1 C2

37. There are 200 individuals with a skin disorder, 120 had been exposed

to the chemical  to chemical , and 30 to both the chemicals 

. Find the number of individuals exposed to 


(i) Chemical  but not chemical  


C1, 50 C2

C1 and C2

C1 C2

https://dl.doubtnut.com/l/_54GbFP43dh7K
https://dl.doubtnut.com/l/_liybUnVypClF
https://dl.doubtnut.com/l/_hK1FyaD5jvVH


(ii) Chemical  but not chemical  


(iii) Chemical  or chemical 

Watch Video Solution

C2 C1

C1 C2

38. Show that the set of letters needed to spell “ CATARACT ” and the set

of letters needed to spell “ TRACT” are equal.

Watch Video Solution

39. List all the subsets of the set .

Watch Video Solution

{– 1, 0, 1}

40. Show that  implies 

Watch Video Solution

A ∪ B = A ∩ B A = B

https://dl.doubtnut.com/l/_hK1FyaD5jvVH
https://dl.doubtnut.com/l/_MMKCHFZnrSXl
https://dl.doubtnut.com/l/_DrDrtb7FMgiF
https://dl.doubtnut.com/l/_iaLdjxYRKGoE


41. For any sets A and B, show that 

.

Watch Video Solution

P (A ∩ B) = P (A) ∩ P (B)

42. A market research group conducted a survey of 1000 consumers and

reported that 720 consumers like product A and 450 consumers like

product B, what is the least number that must have liked both products?

Watch Video Solution

43. Out of 500 car owners investigated, 400 owned car A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

Watch Video Solution

https://dl.doubtnut.com/l/_bTY5GakxJQKL
https://dl.doubtnut.com/l/_ygl547HCWalO
https://dl.doubtnut.com/l/_xEkumZUfqFDh


Solutions Of Ncert Exemplar Problems Short Answer Type Questions

44. A college awarded 38 medals in football, 15 in basketball and 20 in

cricket. If these medals went to a total of 58 men and only three men got

medals in all the three sports, how many received medals in exactly two

of the three sports ?

Watch Video Solution

1. Write the following sets in the roaster form. 

Watch Video Solution

A = {x : x ∈ R, 2x + 11 = 15}

2. Write the following sets in the roaster form. 

Watch Video Solution

B = {x ∣ x2 = x, x ∈ R}

https://dl.doubtnut.com/l/_VadbHWtQDWea
https://dl.doubtnut.com/l/_dVXZkQ6GFJYa
https://dl.doubtnut.com/l/_YmeUlncmtL5I


3. Write the following sets in the roaster form. 

 is a positive factor of a prime number p}

Watch Video Solution

C = {x ∣ x

4. Write the following sets in the roaster from. 

Watch Video Solution

D = {t/t3 = t, t ∈ R}

5. Write the following sets in the roaster from. 

Watch Video Solution

E = {w} = 3, w ∈ R}
w − 2

w + 3

6. Write the following sets in the roaster from. 

F = {x/x4 − 5x2 + 6 = 0, x ∈ R}

https://dl.doubtnut.com/l/_YmeUlncmtL5I
https://dl.doubtnut.com/l/_M8tKHL32H2xA
https://dl.doubtnut.com/l/_UIQnX2Xy6wEa
https://dl.doubtnut.com/l/_7QhM9uzvkazn
https://dl.doubtnut.com/l/_2sWZszm33lOp


Watch Video Solution

7. , for n = ……………it is a prime number.

Watch Video Solution

P (n) : 2n − 1

8. State which of the following statements are true and which are false.

Justify your answer. 

 has exactly four positive factors}.

Watch Video Solution

35 ∈ {x ∣ x

9. State which of the following statements are true and which are false.

Justify your answer. 

 the sum of all the positive factors of y is 2y}.

Watch Video Solution

128 ∈ {y∣

https://dl.doubtnut.com/l/_2sWZszm33lOp
https://dl.doubtnut.com/l/_LV4yE5DMdBfB
https://dl.doubtnut.com/l/_KaFUCdRxK9BJ
https://dl.doubtnut.com/l/_PhnWzcfXNca8
https://dl.doubtnut.com/l/_7B4QUCPctHkG


10. State which of the following statements are true and which are false.

Justify your answer. 

Watch Video Solution

3 ∈ {x ∣ x4 − 5x3 + 2x2 − 112x + 6 = 0}

11. State which of the following statements are true and which are false.

Justify your answer. 

 the sum of all the positive factors of y is 2y}.

Watch Video Solution

496 ∈ {y∣

12. If L= {1, 2, 3, 4}, M= {3, 4, 5, 6} and N= {1, 3, 5}, then verify that

.

Watch Video Solution

L − (M ∪ N) = (L − M) ∩ (L − N)

https://dl.doubtnut.com/l/_7B4QUCPctHkG
https://dl.doubtnut.com/l/_ecqDoOOZ2ReX
https://dl.doubtnut.com/l/_VH4dXjT0khBJ


13. If A and B are subsets of the universal set , then show that, 


Watch Video Solution

∪

A ⊂ A ∪ B

14. If A and B are subsets of the universal set , then show that, 


Watch Video Solution

∪

A ⊂ B ⇔ A ∪ B = B

15. If A and B are subsets of the universal set , then show that, 


Watch Video Solution

∪

(A ∩ B) ⊂ A

16. Given that N= {1, 2, 3, 4,……….., 100}. Then, write 

The subset of N whose elements are even numbers.

https://dl.doubtnut.com/l/_nzLuM8bftWsA
https://dl.doubtnut.com/l/_mQOnnQVe62X6
https://dl.doubtnut.com/l/_ttwiKZoFgosB
https://dl.doubtnut.com/l/_QvDWn8W6ePTK


Watch Video Solution

17. Given that N= {1, 2, 3, 4,……….., 100}. Then, write 

The subset of N whose elements are perfect square numbers.

Watch Video Solution

18. If X= {1, 2, 3}, if n represents any member of X, write the following sets

containing numbers represented by 

Watch Video Solution

4n

19. If X= {1, 2, 3}, if n represents any member of X, write the following sets

containing numbers represented by 

Watch Video Solution

n + 6

https://dl.doubtnut.com/l/_QvDWn8W6ePTK
https://dl.doubtnut.com/l/_VfrBAE0Jx9Sf
https://dl.doubtnut.com/l/_6MJhIT0FOZlm
https://dl.doubtnut.com/l/_DKGXQCeLbSSz


20. If X= {1, 2, 3}, if n represents any member of X, write the following sets

containing numbers represented by 

Watch Video Solution

n/2

21. If X= {1, 2, 3}, if n represents any member of X, write the following sets

containing numbers represented by 

Watch Video Solution

n − 1

22. If Y= {1, 2, 3,………..,10} and a represents any element of Y, write the

following sets, containing all the elements satisfying the given

conditions. 

Watch Video Solution

a ∈ Y  but a2 ∉ Y

https://dl.doubtnut.com/l/_JtuZJLtB6eAu
https://dl.doubtnut.com/l/_a8oFIXBOWuDb
https://dl.doubtnut.com/l/_DfyAHKg9aYMP


23. If Y= {1, 2, 3,………..,10} and a represents any element of Y, write the

following sets, containing all the elements satisfying the given

conditions. 

Watch Video Solution

a + 1 = 6, a ∈ Y

24. If Y= {1, 2, 3,………..,10} and a represents any element of Y, write the

following sets, containing all the elements satisfying the given

conditions. 

a is less than 6 and 

Watch Video Solution

a ∈ Y

25. A, B and C are subset of universal set . If A= {2, 4, 6, 8, 12, 20}, B= {3, 6,

12, 15} and C= {5, 10, 15, 20} and  is the set of all whole numbers, draw a

Venn diagram showing the relation of , A, B and C.

Watch Video Solution

∪

∪

∪

https://dl.doubtnut.com/l/_u1KRs66YMAUM
https://dl.doubtnut.com/l/_mDlECfXuiw8O
https://dl.doubtnut.com/l/_M0BoPUM3pA8O


Watch Video Solution

26. Let  be the set of all boys and girls in a school, G be the set of all

girls in the school, B be the set of all boys in the school and S be the set

of all students in the school who take swimming. Some but not all,

students in the school take swimming. Draw a Venn diagram showing one

of the possible inter relationship among sets , G, B and S.

Watch Video Solution

∪

∪

27.  .

Watch Video Solution

A − (B ∩ C) = (A − B) ∩ (A − C)

28. For all sets A and B, .

Watch Video Solution

(A − B) ∪ (A ∩ B) = A

https://dl.doubtnut.com/l/_M0BoPUM3pA8O
https://dl.doubtnut.com/l/_1LqeT9sn6P2S
https://dl.doubtnut.com/l/_OEVacY2IBL6l
https://dl.doubtnut.com/l/_AUB3948rESQ8


29. For all sets A, B and C, .

Watch Video Solution

A − (B − C) = (A − B) − C

30. For all sets A, B and C, if , then .

Watch Video Solution

A ⊂ B A ∩ C ⊂ B ∩ C

31. For all sets A, B and C, if , then .

Watch Video Solution

A ⊂ B A ∪ C ⊂ B ∪ C

32. For all sets A, B and C, if , then .

Watch Video Solution

A ⊂ C  and B ⊂ C A ∪ B ⊂ C

33. For all sets A and B, .A ∪ (B − A) = A ∪ B

https://dl.doubtnut.com/l/_rWNcA5tsAEnJ
https://dl.doubtnut.com/l/_wAJjIVuiU6G1
https://dl.doubtnut.com/l/_446LzAMy3cN4
https://dl.doubtnut.com/l/_HjHQ1YuElg0H
https://dl.doubtnut.com/l/_Xwh8swO4ZahE


Watch Video Solution

34. For all sets A and B, .

Watch Video Solution

A − (A − B) = A ∩ B

35. For all sets A and B, .

Watch Video Solution

A − (A ∩ B) = A − B

36. For all sets A and B, .

Watch Video Solution

(A ∪ B) − B = A − B

37. Let . Is T an empty set ? Justify

your answer.

Watch Video Solution

T = {x ∣ − 5 = }
x + 5

x − 7

4x − 40
13 − x

https://dl.doubtnut.com/l/_Xwh8swO4ZahE
https://dl.doubtnut.com/l/_DygiEIL9CukG
https://dl.doubtnut.com/l/_41SLfejImvYL
https://dl.doubtnut.com/l/_PnPaCqa7P7Ar
https://dl.doubtnut.com/l/_ezTYiWdwda69


Solutions Of Ncert Exemplar Problems Long Answer Type Questions

1. If A, B and C be sets. Then, show that,

.

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

2. Out of 100 students, 55 passed in Mathematics and 67 passed in

Physics 100 students passed at least one of these two subjects. Find how

many students passed in Physics only?

Watch Video Solution

3. Out of 100 students, 15 passed in English, 12 passed in Mathematics, 7

in Mathematics and Science, 4 in English and Science, 4 in all the three.

https://dl.doubtnut.com/l/_ezTYiWdwda69
https://dl.doubtnut.com/l/_IWroa2tntvzL
https://dl.doubtnut.com/l/_oRzj9baQtcyn
https://dl.doubtnut.com/l/_WtAZdOcb7x0k


Find how many passed. 

In Mathematics and Science but not in English.

Watch Video Solution

4. Out of 100 students, 15 passed in English, 12 passed in Mathematics, 7

in Mathematics and Science, 4 in English and Science, 4 in all the three.

Find how many passed. 

In Mathematics only.

Watch Video Solution

5. Out of 100 students, 15 passed in English, 12 passed in Mathematics, 7

in Mathematics and Science, 4 in English and Science, 4 in all the three.

Find how many passed. 

In more than one subject only.

Watch Video Solution

https://dl.doubtnut.com/l/_WtAZdOcb7x0k
https://dl.doubtnut.com/l/_BJuweutiN1qc
https://dl.doubtnut.com/l/_4laYonfhogxV
https://dl.doubtnut.com/l/_aVHuYkki4o2z


6. In a class of 60 students, 25 students play cricket and 20 students play

tennis and 10 students play both the games. Find the number of students

who play neither.

Watch Video Solution

7. In a survey of 200 students of a school, it was found that 120 study

Mathematics, 90 study Physics and 70 study Chemistry, 40 study

Mathematics and Physics, 30 study Physics and Chemistry, 50 study

Chemistry and Mathematics and 20 none of these subjects. Find the

number of students who study all the three subjects.

Watch Video Solution

8. In a town of 10000 families, it was found that 40% families buy

newspaper A, 20% families buy newspaper B, 10% families buy newspaper

C, 5% families buy A and B, 3% buy B and C and 4% Buy A and C. If 2%

https://dl.doubtnut.com/l/_aVHuYkki4o2z
https://dl.doubtnut.com/l/_Uz9iPThef0VV
https://dl.doubtnut.com/l/_rgIHJiRrWVLd


families buy all the three newspaper. Find 

The number of families which buy newspaper A only.

Watch Video Solution

9. In a town of 10000 families, it was found that 40% families buy

newspaper A, 20% families buy newspaper B, 10% families buy newspaper

C, 5% families buy A and B, 3% buy B and C and 4% Buy A and C. If 2%

families buy all the three newspaper. Find 

The number of families which buy none of A, B and C.

Watch Video Solution

10. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and Sanskrit = 5, English, French and Sanskrit = 3.

Find the number of students who study 

Only French.

https://dl.doubtnut.com/l/_rgIHJiRrWVLd
https://dl.doubtnut.com/l/_9Tjl8dGrfvjy
https://dl.doubtnut.com/l/_RKyScowlCIbW


Watch Video Solution

11. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and English = 9, English and Sanskrit =4 ,
French and

Sanskrit = 5, English, French and Sanskrit = 3. Find the number of students

who study 

Only English.

Watch Video Solution

12. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and English = 9, English and Sanskrit = 4, French and

Sanskrit = 5, English, French and Sanskrit = 3. Find the number of students

who study 

Only Sanskrit.

Watch Video Solution

https://dl.doubtnut.com/l/_RKyScowlCIbW
https://dl.doubtnut.com/l/_eqcDMuO3bO6S
https://dl.doubtnut.com/l/_WsqpsSsS7Pkk


13. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and English = 9, English and Sanskrit = 4
French and

Sanskrit = 5, English, French and Sanskrit = 3. Find the number of students

who study 

English and Sanskrit but not French.

Watch Video Solution

14. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and Sanskrit = 5, English, French and Sanskrit = 3.

Find the number of students who study 

French and Sanskrit but not English.

Watch Video Solution

https://dl.doubtnut.com/l/_WsqpsSsS7Pkk
https://dl.doubtnut.com/l/_KuvuPZkWh9UM
https://dl.doubtnut.com/l/_BwoT28auYvzA


15. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and Sanskrit = 5, English, French and Sanskrit = 3.

Find the number of students who study 

French and English but not Sanskrit.

Watch Video Solution

16. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

Sanskrit = 15, French and Sanskrit = 5, English, French and Sanskrit = 3.

Find the number of students who study 

At least one of the three languages.

Watch Video Solution

17. In a group of 50 students, the number of students studying French,

English, Sanskrit were found to be as follows French = 17, English = 13,

https://dl.doubtnut.com/l/_BCmTQmayRj7c
https://dl.doubtnut.com/l/_m9IIsM9io0kU
https://dl.doubtnut.com/l/_11cJyM3IAqM8


Solutions Of Ncert Exemplar Problems Objective Type Questions

Sanskrit = 15, French and Sanskrit = 5, English, French and Sanskrit = 3.

Find the number of students who study 

None of the three languages.

Watch Video Solution

1. Let  be the nth term of an AP, if ,

then the common difference of the AP is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

an

100

∑
r= 1

a2r = α  and  
100

∑
r= 1

a2r− 1 = β

15

9

45

35

https://dl.doubtnut.com/l/_11cJyM3IAqM8
https://dl.doubtnut.com/l/_nKwDQc3vvDQt


2. Two finite sets have m and n elements. The number of subsets of the

first set is 112 more than of the second set. The values of m and n are,

respectively.

A. 4 and 7

B. 7 and 4

C. 4 and 4

D. 7 and 7

Answer: B

Watch Video Solution

3. The set  is equal to

A. 

B. 

(A ∩ B' )' ∪ (B ∩ C)

A' ∪ B ∪ C

A' ∪ B

https://dl.doubtnut.com/l/_nKwDQc3vvDQt
https://dl.doubtnut.com/l/_6HviBAKVzYpD
https://dl.doubtnut.com/l/_QqE3DHMLQxjo


C. 

D. 

Answer: B

Watch Video Solution

A' ∪ C'

A' ∩ C

4. Let  be the set of parallelograms,  the set of rectangles,  the set

of rhombuses,  the set of squares and  the set of trapeziums in a

plane. Then,  may be equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F1 F2 F3

F4 F5

F1

F2 ∩ F3

F3 ∩ F4

F2 ∪ F5

F1 ∪ F2 ∪ F3 ∪ F4

https://dl.doubtnut.com/l/_QqE3DHMLQxjo
https://dl.doubtnut.com/l/_y2592V88qUQZ


5. Let S= set of points inside the square, T= set of points inside the

triangle and C= set of points inside the circle. If the triangle and circle

intersect each other and are contained in a square. Then,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S ∩ T ∩ C = ϕ

S ∪ T ∪ C = C

S ∪ T ∪ C = S

S ∪ T = S ∩ C

6. If R be the set of points inside a rectangle of sides a and b 

with two sides along the positive direction of X-axis and Y-axis. Then,

A. 

(a, b > 1)

R = {(x, y) : 0 ≤ x ≤ a, 0 ≤ y ≤ b}

https://dl.doubtnut.com/l/_y2592V88qUQZ
https://dl.doubtnut.com/l/_JZvAlQRS5t2L
https://dl.doubtnut.com/l/_7fan0Q4Og21E


B. 

C. 

D. 

Answer: D

Watch Video Solution

R = {(x, y) : 0 ≤ x < a, 0 ≤ y < b}

R = {(x, y) : 0 ≤ x ≤ a, 0 < y < b}

R = {(x, y) : 0 < x < a, 0 < y < b}

7. In a twon of 840 persons, 450 persons read Hindi 300 read English and

200 read both newspapers. Then find the number of persons who read

neither of the newspapers.

A. 

B. 

C. 

D. 

Answer: B

210

290

180

260

https://dl.doubtnut.com/l/_7fan0Q4Og21E
https://dl.doubtnut.com/l/_x2Ds1rk5fTfM


Watch Video Solution

8. If . Then,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

X = {8n − 7n − 1/n ∈ N}  and Y = {49n − 49/n ∈ N}

X ⊂ Y

Y ⊂ X

X = Y

X ∩ Y = ϕ

9. A survey shows that 63% of the people watch a news channel where as

76% watch another channel. If x% of the people watch both channel then,

A. 

B. 

x = 35

x = 63

https://dl.doubtnut.com/l/_x2Ds1rk5fTfM
https://dl.doubtnut.com/l/_P3DJjpE26qHh
https://dl.doubtnut.com/l/_ORWcHhSdaoNs


C. 

D. 

Answer: C

Watch Video Solution

39 ≤ x ≤ 63

x = 39

10. If sets A and B are defined as

.

Then,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {(x, y) ∣ y = , x ≠ 0 ∈ R}, B = {(x, y) ∣ y = − x, x ∈ R}
1

x

A ∩ B = A

A ∩ B = B

A ∩ B = ϕ

A ∪ B = A

https://dl.doubtnut.com/l/_ORWcHhSdaoNs
https://dl.doubtnut.com/l/_roo7foLlNEOV


11. If A and B are two sets, then  equals to,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A ∩ (A ∪ B)

A

B

ϕ

A ∩ B

12. If A= {1, 3, 5, 7, 9, 11, 13, 15, 17}, B= {2, 4, 6, 8,……….18} and N the set of

natural numbers is the universal set, then  is

A. 

B. 

C. 

{A' ∪ (A ∪ B) ∩ B' }

ϕ

N

A

https://dl.doubtnut.com/l/_roo7foLlNEOV
https://dl.doubtnut.com/l/_8qGhCzDpTb8v
https://dl.doubtnut.com/l/_3H4KOvAqAIXF


D. 

Answer: B

Watch Video Solution

B

13. If  is a positive multiple of 3 less than 100} and 

is a prime number less than 20} then  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S = {x ∣ x P = {x ∣ x

n(S) + n(P )

34

31

33

41

https://dl.doubtnut.com/l/_3H4KOvAqAIXF
https://dl.doubtnut.com/l/_JxXf0tUzhmlV


Solutions Of Ncert Exemplar Problems Fillers

14. If X and Y are two sets and X' denotes the complement of X, then

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

X ∩ (X ∪ Y )'

X

Y

ϕ

X ∩ Y

1. The set  can be written as .

Watch Video Solution

{x ∈ R : 1 ≤ x < 2} …………

https://dl.doubtnut.com/l/_DufcXfXejUzS
https://dl.doubtnut.com/l/_41IH7YlKln0T
https://dl.doubtnut.com/l/_wu3kLwcKD8OM


2. When , then number of elements in P(A) is………..

Watch Video Solution

A = ϕ

3. If A and B are two sets such that  then what is 

Watch Video Solution

A ⊂ B A ∪ B?

4. If A and B are any two sets, then A - B is equal to………….

Watch Video Solution

5. Power set of the set 

Watch Video Solution

A = {1, 2}  is ……….

6. Given the sets ,

which of the following may be considered as universal set (s) for all the

A = {1, 3, 5}, B = {2, 4, 6} and C = {0, 2, 4, 6, 8}

https://dl.doubtnut.com/l/_wu3kLwcKD8OM
https://dl.doubtnut.com/l/_g0b2EV724g9E
https://dl.doubtnut.com/l/_18nHsHzZOVRy
https://dl.doubtnut.com/l/_c9WZ9W7wHZS6
https://dl.doubtnut.com/l/_3G4N0hhrpoQH


three sets A, B and 

Watch Video Solution

ϕ

7. If U= {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}, A= {1, 2, 3, 5}, B= {2, 4, 6, 7} and C= {2, 3, 4, 8}.

Then, 

Watch Video Solution

(B ∪ C)' = ………

8. If U= {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}, A= {1, 2, 3, 5}, B= {2, 4, 6, 7} and C= {2, 3, 4, 8}.

Then, 

Watch Video Solution

(C − A)' = ………..

9. For all sets A and B, .A − (A ∩ B) = A − B

https://dl.doubtnut.com/l/_3G4N0hhrpoQH
https://dl.doubtnut.com/l/_S1YQ52h5TgRy
https://dl.doubtnut.com/l/_KOMVZf0yPfh7
https://dl.doubtnut.com/l/_Q2GtiQHB5dxD


Solutions Of Ncert Exemplar Problems True False

Watch Video Solution

10. Match the following sets for all sets A, B and C. 

Watch Video Solution

1. If A is any set, then 

Watch Video Solution

A ⊂ A

https://dl.doubtnut.com/l/_Q2GtiQHB5dxD
https://dl.doubtnut.com/l/_WqaGu5tDGugI
https://dl.doubtnut.com/l/_I1ZJe8f7vsAS


2. If M= {1, 2, 3, 4, 5, 6, 7, 8, 9} and B= {1, 2, 3, 4, 5, 6, 7, 8, 9} then .

Watch Video Solution

B ⊂ M

3. The sets {1, 2, 3, 4} and {3, 4, 5, 6} are equal.

Watch Video Solution

4. , where Q is the set of rational numbers and Z is the set of

integers.

Watch Video Solution

Q ∪ Z = Q

5. Let sets R and T be defined as  is divisible by 2} 

 is divisible by 6}. Then .

Watch Video Solution

R = {x ∈ Z ∣ x

T = {x ∈ Z ∣ x T ⊂ R

https://dl.doubtnut.com/l/_YfvTUW4relkN
https://dl.doubtnut.com/l/_KukZqHdkOalU
https://dl.doubtnut.com/l/_bjr2tUsnf7r3
https://dl.doubtnut.com/l/_4N8ER9L1UcrX
https://dl.doubtnut.com/l/_vslGprDsrbYr


Question Of Module

6. Given A= {0, 1, 2}, }. Then, A= B.

Watch Video Solution

B = {x ∈ R ∣ 0 ≤ x ≤ 2

1.  is a set of………type.

Watch Video Solution

A{x ∈ R ∣ x2 + 3 = 0}

2.  is a set of……type.

Watch Video Solution

B = {x ∈ N ∣ x ≥ 7}

3.  is a set of…….type.

Watch Video Solution

C = {ϕ}

https://dl.doubtnut.com/l/_vslGprDsrbYr
https://dl.doubtnut.com/l/_ZTUVJtX4Py4E
https://dl.doubtnut.com/l/_xydNGHtE2W0q
https://dl.doubtnut.com/l/_xVTDPghJBAnc
https://dl.doubtnut.com/l/_hNUWWkCgAVPG


4. Express  as a set.

Watch Video Solution

( − 3, 5)

5. Express  on the number line.

Watch Video Solution

(15, 17)

6.  then find  and .

Watch Video Solution

A = {x ∈ N ∣ 1 ≤ x ≤ 5} n(P (A)) n(P (P (A)))

7.  then find P(B), 

.

Watch Video Solution

B = {x ∈ N ∣ x2 + 4 = 0}

P (P (B))  and n(P (B))  and n(P (P (B)))

https://dl.doubtnut.com/l/_hNUWWkCgAVPG
https://dl.doubtnut.com/l/_2NwBYcO1rkoD
https://dl.doubtnut.com/l/_H0CmAzqfshR7
https://dl.doubtnut.com/l/_trEmqX3YYcsQ


8. From Venn diagarm, obtain the number of elements of sets A and B. 

 


Write the elements of sets A, B,  and U.

Watch Video Solution

A ∪ B, A ∩ B

9. 


 Show these sets in Venn diagram.

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}, B = {1, 2, 3, 7, 8, 10}, C = {1, 2, 5, 9, 10},

U = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11}

https://dl.doubtnut.com/l/_ppGOC5DCLEqB
https://dl.doubtnut.com/l/_APmzdzjYZLla


10. From the given venn diagram, find the elements of each sets. 

Watch Video Solution

11. If  and , then 

 is equal to

Watch Video Solution

P (B) = , P(A ∩ B ∩
−
c) =

3

4

1

3
P(

−

A ∩ B ∩
−

C) =
1

3

P (B ∩ C)

https://dl.doubtnut.com/l/_uudo65L1vV9g
https://dl.doubtnut.com/l/_R7VsriLIWUQw


12. Given that 

then find 

Watch Video Solution

n(U) = 200, n(A) = 77, n(B) = 98, n(A ∪ B) = 141

n(A ∩ B)

13. Given that 

then find 

Watch Video Solution

n(U) = 200, n(A) = 77, n(B) = 98, n(A ∪ B) = 141

n(A' ∩ B)

14. Given that 

then find 

Watch Video Solution

n(U) = 200, n(A) = 77, n(B) = 98, n(A ∪ B) = 141

n(A ∩ B' )

https://dl.doubtnut.com/l/_8HslOLzdEW7Z
https://dl.doubtnut.com/l/_MQs4v9tOWBfd
https://dl.doubtnut.com/l/_uXNulOae1Ye7
https://dl.doubtnut.com/l/_nk1ervQuEbP5


15. Given that 

then find 

Watch Video Solution

n(U) = 200, n(A) = 77, n(B) = 98, n(A ∪ B) = 141

n(A' ∩ B' )

16. Given that 

then find 

.

Watch Video Solution

n(U) = 200, n(A) = 77, n(B) = 98, n(A ∪ B) = 141

n(A' ∪ B' )

17. Fill in the blanks by selecting appropriate alternative for the following

questions : 

If  then A……B.

A. 

B. 

A ⊂ B  and B ⊂ A

=

≠

https://dl.doubtnut.com/l/_nk1ervQuEbP5
https://dl.doubtnut.com/l/_tojHjvMwRELl
https://dl.doubtnut.com/l/_CZgic0H813yy


C. 

D. 

Answer:

Watch Video Solution

∈

∉

18. Fill in the blanks by selecting appropriate alternative for the following

questions : 

Relation between A - B and B - A is……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

=

≠

⊂

⊂

https://dl.doubtnut.com/l/_CZgic0H813yy
https://dl.doubtnut.com/l/_uMAvWh1KMY9K


19. Fill in the blanks by selecting appropriate alternative for the following

questions : 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(A' ∩ B' )' = ………..

A ∩ B

A ∪ B

A' ∩ B

A ∩ B'

20. Fill in the blanks by selecting appropriate alternative for the following

questions : 

A. 

(A' ∪ B' )' = ………..

A ∩ B

https://dl.doubtnut.com/l/_uMAvWh1KMY9K
https://dl.doubtnut.com/l/_Zn4uD2Hkwbyz
https://dl.doubtnut.com/l/_VeGDuoY6UHZk


B. 

C. 

D. 

Answer:

Watch Video Solution

A ∪ B

A' ∩ B

A ∩ B'

21. Fill in the blanks by selecting appropriate alternative for the following

questions : 

If , then 

A. 2

B. 4

C. 8

D. 16

Answer:

A = {ϕ, {ϕ}} n(P (A)) = ……….

https://dl.doubtnut.com/l/_VeGDuoY6UHZk
https://dl.doubtnut.com/l/_jjHpdAGSWr02


Watch Video Solution

22. Fill in the blanks by selecting appropriate alternative for the following

questions : 

If , then 

A. 8

B. 16

C. 256

D. 512

Answer:

Watch Video Solution

A = {ϕ, 0, − 1} n(P (P (A))) = ……….

23. Fill in the blanks by selecting appropriate alternative for the following

questions : 

https://dl.doubtnut.com/l/_jjHpdAGSWr02
https://dl.doubtnut.com/l/_6q8RmHfgUN4S
https://dl.doubtnut.com/l/_thPyqQDfHlLW


If  then 

A. 505

B. 555

C. 93

D. 705

Answer:

Watch Video Solution

n(U) = 2018, n(A) = 251, n(B) = 542, n(A ∩ B) = 88

n(A ∪ B) = ……….

24. Fill in the blanks by selecting appropriate alternative for the following

questions : 

If  then 

A. 46

B. 42

n(U) = 111, n(A) = 62, n(B) = 88  and n(A' ∩ B) = 42

n(A ∩ B) = ……….

https://dl.doubtnut.com/l/_thPyqQDfHlLW
https://dl.doubtnut.com/l/_w4wIA0IFoqN4


C. 13

D. 5

Answer:

Watch Video Solution

25. Fill in the blanks by selecting appropriate alternative for the following

questions : 

…….of the following is true interval for .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 3, 7) ∩ (8, 11)

ϕ

( − 3, 11)

(7, 8)

( − 3, 8)

https://dl.doubtnut.com/l/_w4wIA0IFoqN4
https://dl.doubtnut.com/l/_YF85tlJwTS6h


26. Fill in the blanks by selecting appropriate alternative for the following

questions : 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 2, 6) ∪ (1, 7) = …………

( − 2, 7)

(1, 6)

( − 2, 1)

ϕ

27. Fill in the blanks by selecting appropriate alternative for the following

questions : 

If Q is the set of rational numbers and Z is the set of integers then

Q ∩ Z = ………….

https://dl.doubtnut.com/l/_YF85tlJwTS6h
https://dl.doubtnut.com/l/_pAjrps3dPouq
https://dl.doubtnut.com/l/_fdR2Dm7uTelM


A. N

B. Z

C. Q

D. 

Answer:

Watch Video Solution

ϕ

28. Fill in the blanks by selecting appropriate alternative for the following

questions : 

, then 

A. 4

B. 2

C. 1

D. 0

A = {x ∣ x ∈ R, x2 + 8x + 12 = 0} n(P (A)) = …………

https://dl.doubtnut.com/l/_fdR2Dm7uTelM
https://dl.doubtnut.com/l/_kZkNNNrtjxvO


Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kZkNNNrtjxvO

